Time : 3 Hours &

Instructions :

(1)

(i)

Each question carries one mark.

(28 Laa"élga g X)J"dozr god.

Choose the correct or most appropriate answer from the given options to the following questions
and darken, with blue/black ball point pen the corresponding digit 1, 2, 3 or 4 in the circle
pertaining to the question number concerned in the OMR Answer Sheet, separately supplied to

you.

BHS aV)D (®e Lﬁa-’élgo aésa&é >3 QO TS VB EeS DD 92533_51’3 () PORY)
D08 ©oB 1, 2, 3 BF 4 Bdhm ad)d OMR JIreed HESes® (D)H
20208003 Vopghe DEEL /el S ool X)) GDTIACY J0DHTI.

BOTANY
1. Identify the correct pair of combinations
(I) Zeatin — Adenine derivative — Overcoming apical dominance
(1) C,H, — Indole compound — Effective in fruit ripening
(II‘I) ABA — Carotenoid derivative — Induction of parthenocarpy
(IV) GA; — Terpene — Bolting in cabbage
DOTHS FogloP Ho =8 HfoNod.
() 25785 — ©3dJ8 GSE NS\ — @Lm®§§é$a TR B 00
(I C,H, 2 208°S TorALSdD — Kpme;'ﬁ DODEISH &80
(III) ABA — 35563{\)‘03;5 a5 H0 — eab"gé Hod (o
(IV)GA, — 88 — sBad S*9oh
(1) (1, 1 2) I, 1v) 3) 4,1v) (4) I, 1v)
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AM 2015 D 18

Marks : 160



2. Study the following lists

List-I List-11
(A) Munch (I)  Stomatal movement
(B) Darwin (I) Hastened fruit ripening by volatiles
(C) Cousins : (Ill) Growth of coleoptiles towards light

(D) Levitt (IV) Nature of enzyme action

: (V) Bidirectional transport in phloem
& (800 wrderod wEgohdo Fohod '

dec-1 adac-11
(A) dwon D DS Sozre Sodo
(B) @=08S an =Ry dorgrode oo DEIETAEDD G0
(©) €285y ) (PoHd Loosin 08 BIM DEHGEO
(D) 828 (V) ISR Sorg dgerdo

(V) 0¥ Sneroos’ 8305 Sarer

The correct match is
20 DOTHS FdoY

@A B © O
(1) dip vy @O  dp
() W)= (0 o) - D
TG anp - a@m @
“4) dif) @ - (V) (V)

3. What is the type of nutrition in purple and green sulphur bacteria ?

(1) Photoautotrophic (2) Chemoautotropic

(3) Photoheterotrophic (4) Chemoheterotrophic

DENS HOBH GHDE ) ‘éu@5 w%@oﬁoSov dhem S0 8?

(1) sro8 Jgadoo Fado (2) SJ S Dgddio FFndo

(3) sT08 dEFnSo ' (4) EJr0%S JFFado
Rough Work
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4. Study the following lists

List-1 : List-II

(A) Viroid infecting tomato plant (I) 6,500 nucleotides
(B) TMV (II) 300-400 nucleotides
(C) Polio virus : (IIT) Two identical molecules of RNA
(D) Lentivirus : (IV) Many sided
_ (V) Prion

s LEO{:S' @derodh wdgahdo Bobod

FRee-1 o1
(A) E°6rE® Fwsy S HoEDoD Forand () 6500 g Bow
(B) TMV - () 300-400 $rg8TrBeveo
(C) P*OT1 I8 (III) Bodk JErdgd Ko RNA emodHen
(D) So& IS (IV) 25vdwo

| | (V) Po5rS

The correct match is

20 DTN FdoY
LAY ). T ey D)
() ) - ()
@ an ¢ av) ada
& 4 av) (V) @
@y (V) Ay (1D

5. A cross between pure breeding plant with red dots on leaves and pure breeding white dotted
plant produces heterozygotes that have both red and white dots. On self pollination of F,,
what fraction of plants show both red and white dots on the leaves ?

DEro NS ST Do yood) v‘-a’ocg B0E S Boopory Dyl g
B8 8 Do¥¥mo WA NP HHO0B» BwR HSyew Todr &d) ddH
Swifyeres ¢d38 Tohwgron. F, & Hedhord Hoddho SIS HEre g
DGR HBBw BewP Hdyew Todr ad) B o rdo (fraction) Dod?

() 1722 2) 14 (3) 2/3 ! (4) 3/4

Rough Work
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6. How many phenotypic classes are produced for a pair of characters in a monohybrid test
cross ? : :
of 28 ofmrw EOAH0ED ¥ Do¥od® Hdg Vo¥Emo H9 V) SyIgdrd
gseen P07 :

_(l) 2 2) 4 3) 1 4) 3
7. Study the following lists
List-1 List-11
(A) Operon (I) Binding of repressor proteins
(B) Operator (I) Binding of RNA polymerase
(C) Promoter (II) Inactivated by inducer
(D) Repressor (IV) Binding to polynucleotide phosphorylase

: (V) Polycistronic structural gene regulation
& (808 wrderod wgdhdo Bobod

dac-1 - Doe-11
(A) a0 (D) BRFE PGS 20dSLHE
(B) ©%T&E (II) RNA 705 TE 20dSHH®
(C) @& () (H3¥oT dbg8go Sohwddod
(D) 3>>rE (IV) d5rg8tirBh P )0TEH woddHs

; (V) 02908 domye adogd) oo
The correct match is
28 HOTHD FdoR)
CAAY (B S ACE ()
)@V @)« - (1D
@-an o~ avy @
@) @ ) @y (M
@ v O d dn

8. [Escherichia coli, in which both the strands of DNA are labelled with I5N is transferred to
14N medium and allowed to replicate for three generations. Find out the number of hybrid
DNA molecules in the third generation.

DNA Bod e N & Bend Tohwdd JI¥)8adir §°0% N do w5rg0s°s
S0 Sards Soro B8 BHoBEYSHE . Do SS0S® Ho¥8 DNA wmodo
2605135:63 ES50AT Ko, ‘

{1) 8§ - (2) 12 (3) 12 (4) 10

Rough Work .
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9. A DNA segment has AGA GCA ATA CCA ACA ACC nucleotides in a sequence. The
segment of polypeptide chain synthesized from this DNA through mRNA has the following
aminoacid sequence
2% DNA 208808° AGA GCA ATA CCA ACA ACC o3 Srg8TWrBhen SHHEH0oS®
garyon. & DNA %008 mRNA ogo doFnoswdd FODPE Feoobost

oS wdre SHBEH0 & Fomr sTyow

(1) Arg — Tyr — Ser — Cys — Trp — Gly
(2) Ser — Arg — Tyr — Gly — Cys — Trp
(3) Cys — Trp — Ser — Gly — Arg — Arg
4) Tyr - Cys — Trp — Ser — Gly — Arg

10. Study the following lists
List-I List-II
(A) Cellulase (I) Cell wall of bacteria
(B) Chitinase (II) Cell wall of plant cells
(C) Lysozyme (III) Proteins
(D) Protease (IV) Cell wall of fungal cells
(V) RNA
& (808 rderol wigobhdo Dohod
ader-1 Re-11
(A) DeogdE () wzr§ocire EwEdso
(B) @633‘? () o) Sero Seo8SSo
(C) oB¥'as (II) @*SSeo :
(D) (*ETHE (V) 80o($ Eere E¥SHS0
(V) RNA
The correct match is.
2d ‘ba‘@o:\’s =f30%.
CoAY Al AC): (D)
(-an vy @) . dip
@ a @O dv) dmn
@ Vv O dn daj
() () oADK
Rough Work
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11. Tobacco plants resistant to Meloidegyne incognitia were developed using a method of

cellular defence which relates to

(1) Silencing the translation of specific mRNA
(2) Silencing the transcription of specific mRNA

(3) Activation of specific tRNA
(4) Activation of specific mRNA

S ond T adsiyncird I6°¢ES E9AS s 3:::5‘&0;63 S BTG 5008
GHT/rAODSD Endgn 258 AV8 HouohoWod :

(h 233
@) 9%%
3) Y tRNAD 682d8$ob
4) 23% mRNAS> adabdEsoe

mRNA gy 307850 Byof (Silencing) Vosow
mRNA TooE) wd0Bpddnd 28dyoh (Silencing) Wosne

“12. Study the following lists
List-I

(A) Vector

(B) Downstream processing

(C) Cry II Ab

(D) Transposons

& (B0 wrderod wdgohdo Bokod
rdar-1

(A) o580

(B) whodTde (HES

(C) Cry Il Ab

(D) (&5

The correct match is
20 BOTHS £doY

Ay B) (©) D]
(V) V) ) dH)
2 I (v davy dn.
(3) V) ) o AY)
@ ™z VM GO @

List-II
(I) Resistant to cotton bollworm
(II) Mobile genetic elements
(IIT) Controls corn borer
(IV) Ti plasmid
(V) Purifying protein in biopharmaceuticals

daoe-11
D) %8 2785 % (HBIT°EES
D) $od 2508 JOToo&w
(1) (H8s7cdH FOTW PS> Joho(Se
(Iv) Ti S‘.o&céo
(V) &8 Bagrod® (P*ESH HRDIB6

Rough Work
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Identify the correct pair of characters of a bacterium which is useful in production of
methane

(I) Recyclers of inorganic nutrients

(II) Present in stomach of cattle

(IIl) Obtain energy from sunlight -

(IV) Aerobes : ‘

NBS aS18 Woerdd ¢OTrA0T w005y TwE) VOTHS vFmre =S
o800l

() @Dodcsh F*hsro PIiS|Sdsrw

1) dHHo 2g8°Fos® sodron

(111) ;f:mdgd%’g do0b 480 Fodoerow

(IV) ocaSnifed £Hen

(1) (1, 1) ) (11 3) (1, IV) (4) (11, IV)
14. Which one of the following variety is resistant to white rust disease
(1) Pusa Sem 2 : - (2) Pusa Komal
(3) Pusa Sawani (4) Pusa Swarnim
Bod HoH VMoo °gR8 (HBISFES SrD E¥o
(1) > o 2 2) Srdr §5S
(3) o> Ja (4) P Dg8o
15. Identify the correct pair of combinations
(I) Vallisneria — Long stalked female flowers — Hydrophily
(I) Tribulus — Annual — Root succulent :
(1) Hydrilla = Submerged rooted hydrophytes — Aerenchyma
(IV) Casurina — Perennial — Phylloclades
HOTHS ToF¥doH =SB rfogoﬁoé
1) s09380sr — PEBS Syoeredo V) Prew — zodod JodIo
() Bwoged — Iagso — VPSS a‘a‘#oa '
() 3 @g° — A8S* $0dA 08 oA ¥8wo TodS Bwpos — aroin JYrod
)& EmzEroo
(V) s*e*Ba° — 2ooa"8%0 — @Yo
(1) (1L, 1V) (2) (1L, 1) 3) @ IV) 4) (1, 1)
Rough Work
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16. Find out the correct pair of statements

(I) Incompletely plasmolysed cell, pressure potential does not contribute to water potential.

(II) If a cell is placed in hypotonic solution for longer time, the cell membrane shrinks
away from its cell wall.

(IIT) Apoplastic system comprises of interconnected protoplasts.
(IV) Polypeptides have more imbibing capacity than polysaccharides.

VOIS argwge =88 dbodod
D) Pom Ea(8Sg b08%80 BodI Ewrod® 5)63-‘553 dendst %aéa’)%%& (S
DN HOBS
(D) ¥ s'ea"é'\)l esu;)mqs Lcréeaod‘ 6gs‘00 G008 Eoo>d Ln¥dSSo Sod
£0WoNIE"R Food
() (@S*F[o wodgro Ig5% oFFP Sg526° @okwod
(V) >d7pB&o $0B 3*@‘*5335& DISHE K S
(1) 14, 1V) 2 @ ID (3) dL 1v) (4) (I 1V)

17. Identify the physiological functions of two microelements, of them, the former is required
for the synthesis and the latter for oxidation of IAA respectively.
(I) Constituent of chlorophyll molecule
(I) Maintenance of cell turgidity
(ITI) Splitting of water in photosynthesis
(IV) Co-factor for carboxypeptidase
(V) Component of methionine
HEDM™ BosEs JAA HoThan®, Bos'd JAA i Edn®H ©IdEBTg Tod
Srg ) Paso 468 $8 ol H8otod
() HE508 wuHS® 28 gio
() s Dydods dPowowess (Maintenance)
(I 8Smadg VoTWrA(Bohs® I8 V&S
(IV) seoe 8 0 RTE8 dIese8¥o
(V) 08T edonpid¥o
The correct answer is
20 HOTNS ddrardo
(1) L V) 2) @av,1m 3 v,D 4 @av, 1D

Rough Work
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18.

Identify the correct pair of answers indicating the reactions catalysed by “Isomerases” class

of enzymes.

(I) Conversion of glyceraldehyde-3-phosphate to dihydroxy acetone phosphate in Calvin
cycle.

(I) Formation of malic acid from fumaric acid in Tricarboxylic acid cycle.
(IIT) Carboxylation of phosphoenol pyruvate in Hatch-Slack pathway.
(IV) Fructose-6-phosphate formation from Glucose-6-phosphate in EMP pathway.

Todf50E T erd) ISBSow 889009 T D Sdge sk HrdoT .os’aaﬁa“mal
%28 0%0&.

() 5088 Soohos® ADoOZTE-3-70 08, @ ar@edy d2E°S P :o;)éfn‘ Sr3do

(1) B9sco°)8 0§ Soosost RgH00§ es:';:ao 3208 263185 50 DEyd&o
() 5*5-8 HFod® FINETS 3 DEDE 5°0°)8)04a S 288d&0

(IV) EMP oac‘éoé" K-8 E-6- @"fogef %008 ($H§°=-6- @"‘foaéf D8 YE b0

The correct pair is

28 HOTHS =°8

() di 1v) 2) d,1v) @) -1l (4) (11, 1I)

19.

The number of ATP molecules formed from 8 molecules of H,0 due to noncyclic electron
transport and subsequent photophosphorylation is

[Assume that quinone cycle facilitates the transfer 4H" to the lumen of thylakoid membrane
for every two electrons passing through electron transport system and one ATP is formed
for every 3H" moving down the proton gradient by the mediation of F, — F, ATPase]

8 ewmodHo H0 So0d &96@‘.&‘53 D05 9IS Sarere, $85088 5708 &ﬁ‘gaﬁa’zs
»Oso0m anyd ATP emodo Dowmg :

(Fogr 9l e orgor D050 T (H8 Bod QO INOH §5555 Socdho 4H" o
EOS‘OJOE I ES)) WSS*8 ao&@ Ta‘coaocﬁb DOCID (D (DHRS OH0D
&4 B8 ATP 63?55 ogoe (Do Loaé'a 3H' o0& ¥ ATP 28)do$083
Q0B 0d)

(1 8 I (2) 4 ‘ (3) 4G 4) 12

20.

The correct sequence of the involvement of the following components in non-cyclic electron
transport

oS8 JosT9s & e TSI & (800 wloPobsro DTS (¥Hod»
1) PC (I PQ " (Ill) Pheo (V) Fd

The correct sequence is
DOTPS HEJ(ED0

(1) @, 1, 1L, 1V) @) (LILIV,I) (3) OV, LILI) (4) (LI, L IV)

Rough Work

AM 2015 D 98
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Which of the two statements together supports that respiratory pathway is an ‘amphibolic pathway’ ?
(I) Fats breakdown to glycerol and fatty acids, subsequently yields acetyl co-enzyme ‘A’.

(IT) In respiration, C-C bonds of complex compounds breakdown through oxidation leading
to release of energy. .

(IIT)- Acetyl coenzyme ‘A’ from the respiratory pathway is withdrawn for the synthesis of
fatty acids.

(IV) Proteins are degraded by protease to amino acids and enter the respiratory pathway.

& (800 o Bodo Frgwger Erd ago|8o% ¥ “eefosy EH(8d% vFo” oI

Dgﬁﬁ@;w :

(D) SHgoo, AdorS 508w §RPY wHFrem Di)‘):«’)lo Bobd S8d50880 DS
§-258S ‘AT ¥ yderon

D) agHBa%Hs” Dog R zoa*gﬁoef' C-C wogren w8y¥dmo aogo DD B
380 J%ode JIon

(II) Q28BS ?QSES} ‘AT oo T8 DFo oW wALDE FHPY wiIro
P0RR I8 SHrddEEon

(IV) (@SS, FETHE o°go° ©S wdroom DRI Do, TgHE S HFoss
(B3 0. _

(1) d,1I) - (2) (L IV) 3) dL 1v) (4) (I, III)

22.

23.

A taxon belonging to order sapindales has a single seeded fleshy fruit with edible mesocarp
and stony endocarp. The number of carpels in the flower of this taxon is
0860 Hoos® Bo¥wrod wod:dHoddord) $ocsn 83 S¢S g Po¥dS08" oE
DETY £0A 0B ¥ eSS FDoBOT (¥57°08 Bod &onod. & 5y
By KQ)‘S&DOES{’K) Podvro Dowg G JFom Gobood :
(1) 3 {2) > 3) 1 “4) 2

Identify the correct pair of combination

(1) Aspergillus — Meiosis occurs in asci — Produces citric acid

(II) Albugo — Coenocytic hyphae — Parasite on mustard

(II)) Penicillium — Basidiospores — Multicellular

(IV) Colletotrichum — Conidia — Smut disease

20THS DEVoPo wdd KodoPod :

D D)0 — ed)dod® EohEde JFad =HHdod — JDBE edo
a0 -

() weoyf® — DSFHEE dobhHoo — wd Iy D Do ED

(Il ™R OS0 — E%&&J*éfgdow — RITuEndingo

(IV) B B9nsSo — FA8%Soow — sPenE Broeo

(1) (mn, (1 - (@ (I, av) 3) O, av) @ @), D

Rough Work
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24. Study the following lists

List-I List-I1
(A) Genetic nature of RNA - (I) George Gamow
(B) Binomial Nomenclature (II) Hugo de Vries
(C) Triplet Codon (II1) Frankel Conrat
(D) Ecology : (IV) Warming

(V) Gaspard Bauhin
& 1808 wrdeod ofgdodo Tabod

-1 dae-11
(A) 88.03.. mdogsdgo D =§ oS
(B) &3o% IrabE8m0 () Hgh® & (DB
(C) (8% Jos&o0 (II) 3ro8S §'So°&
(D) e380 390 (Iv) a"agoﬁ

(V) w338 erors

The correct match is
ad VOTHS £doD

A) @B © @O
(DR gy < e vV
@ . vy avy @
@G aVm v @O
@ dh ) @) dV)

25. Identify the correct pair of combination
(I) Chara — Monoecious — Chlorophyll a, b,
(II) Salvinia — Homosporous — Free floating hydrophyte
(I) Ectocarpus — Filamentous form — Chlorophyll a, d
(IV) Laminaria — Biflagellate gametes — Haplo-diplontic life cycle
DOTHS FosVoPo =dd HdoSod.
(D sror — &gdomr|fon — HET-0go a,b
(1) é‘@g&)d’m —_— ‘b!):?o%ﬁg)aa?gé — 563:9 “fosz‘.s‘prr' GG [0
(1) 9)0555‘6‘35 — Soddrdo — HE5r0&0 a, d
(Iv) _01'3)33805.31 — BgEFTPaind Hod3ri Derrer — D%-ésoﬂ:?g@§ 2d8 I(¥o
(1) (1D, (I 2 @, av) (3) @, dII) (4) i), av)

Rough Work
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(1) Neem — Absence of buds in the axil of leaflets — Pinnately compound leaf

26. Identify the correct combination

(2) Sunflower — Opposite phyllotaxy — Inferior ovary

(3) Carrot — Flowers brought to same height due to varied lengths of pedicels — Involucre of bracts

(4) Pistia — Discoid stem — Lateral branch with many internodes

OIS Do¥DoHss H8ood.

() 35— Hgsro Lﬁ;m:es" Soifen SPoWEo — Daysd aod’mé HSo

(2) “rdgstodo — ehdoy JEITgRO — DBSol wowrdoio

(3) 586 — PR D)oz ITYH PEHS® @wod @a“;)e:bl 28 QS sodbo —
ab».:ﬁ@@wg!v@

(4) 2P — I°F scodo — w3 LeR) éocésa’mozsa £0nd 31695-?9:

27. Three plahts (A, B, C) are observed. ‘A’ has suckers. The edible parts in it are the inflorescence
axis and juicy succulent bracts. ‘B’ belongs to family Moraceae. The edible part is succulent
perianth. In ‘C’ polyadelphous androecium is present and the edible part is juicy succulent
placental hairs of endocarp. Identify the types of fruits in A, B and C respectively.

(1) Sorosis, compound fruit, hesperidium

(2) Compound fruit, syconus, berry

(3) False fruit, aggregate of berries, hesperidium

(4) Aggregate fruit, berry, pepo

Sordo Bl (A, B, O H0800%do 28A0d. ‘A Do¥ oo O
¢00008.. BAS* Ph) ITgdo vwFo Hdaw IHHNE, FVFOS PR YY T
83 wrdom godrom. ‘B’ BB Héoowrdd Bodsiod. &JsP 83 o
852508 HOBlEe. ‘'S vty wod¥ THEHO sowod. 8F oo wod:
HoE5B0S) FHBS, §0F0S wodgd Baeo. A, B %0050 C I0¥)os'
Pore Istod 80 HBodod.

(1) 6D, HoBWrHHo, magé&’aoﬁoSo

(2) boB/rivoo, EIR, Hydpeo

(3) wdydHoo, H)SHorps Eradd Lo¥dSHoo, V)0 EHS

(4) 20¥0EHwo, HYSHoo, DI '

Rough Work
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Identify the plant which is not having unilocular ovary

(1) Cucumber (2) Cashew (3) China rose (4) Chilli
Q¥Do ®oarioird) 00 wodd JwE S dododod. |
(1) $Howb (2) 2a3r0d (3) %oowd @) 8D

29.

Identify the wrong statement

(1) Plants produced vegetatively or asexually are called clones.

(2) Organisms exhibiting external fertilization release a large number of gametes.

(3) Development of embryo from fertilized female gamete is called parthenogenesis.

(4) Conidia are formed in Alternaria.

RICEVII NS 280508 -

(1) ®Bons 548 T T8chddomr )T DoHod £« wotrd

(2) 23“6'315‘.;)0&5659 S0 2Hew SoTWrKderodd ESH RN ‘éospgé's BT ST 0] 33_:0&)

(3) H0b&8n BVodd ?33 bo@rd Dzo S0 Dodo Ddaééﬁ&l wdaf=zdd0
o trdy '

(4) ©9T)0drs® §7805Sen 8 seron

30.

The character associated with the plant in which pollination is by Tageticula
(1) Marginal placentation | (2) Pentamerous flowers
(3) Trilocular ovary (4) Perigynous flowers

r2bdgor $9 HorboBS)o =0T BnEH Howododd oEmo

(1) adrod wodargdo (2) Do PrAcSed Parye
(3) (8Dodsnd womrFdsoo 4 ‘53650655"%' Qoo
Rough Work
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31.
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In plant ‘A’ the seeds will not germinate until they have been exposed to low temperatures

in moist conditions in the presence of oxygen. ‘B’ plant flower has basal placentation and

~ head inflorescence. In ‘C’ plant, flower has cup shaped thalamus and the reproductive

organs in it are enclosed by two petals present on the anterior side of the flower. Identify
the following characters found in A, B and C respectively |
(I) Slightly curved embryo sac

(I) Micropyle, chalaza and funiculus are on the same vertical line

(IT) 180° curvature of the body of the ovule.

‘A BoEy St dETren w8z ‘b&oéoé‘j S0 DOYSod® S s S
2SSy HE%H ©0$H00IBYH. ‘B’ Bo¥) DAYoS" DE wodargd) S0
858 HH PRI gD §0A sowoobd. ‘C By DAY AT Hod PR HITFI0
G008 00w Yar)ds Qorgodos® 0B Tod wi¥dn dHErw (DSgdNd

. womod ) sodisron. A, B $00050 CsS® Ed2oT & (808 oFmrod

HEdm Kodovod :

(1) ods*3o 50 HoP 88A sokwod : _
() wodwgdo, Worer, wodd)odo & JwY) TeD wHhd Gotron
(1) 180° §*mod® HoH) BOAD ©odBT0

() D, di, (D @ @ @, a @ an, @O, a @ o, d, Jn

32.

In a flower of a plant, the n@nber of carpels is equal to the number of inner whorl of
perianth lobes and cotyledons in the seed of that plant is 1/3 of carpel number. What is the
arrangement of ovules on placenta of the flower of that plant ?

(1) Axile (2) Marginal (3) Basal (4) Parietal

a¥ D) To¥) DAY Dodvro Dowg S*HO S50’ BOD|EY 63:&;:)
Dopg¥ vHrHo H38 05w DE506° Dadvo, Dodvro }’oospgé* 1/3 aayo». ©
B0 Pajos® vome @oéms}’og"zﬁoé’s QD ©H0ES" Gotron?

(1) @8o%o (2) &Jrodo (3) 8 (4) Sdg

Rough Werk
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33. Identify the series in ascending order with respect to the number of cohorts prcsent in them.
(1) Inferae, calyciflorae, bicarpellatae, thalamiflorae -
(2) Heteromerae, disciflorae, calyciflorae, thalamiflorae
(3) Caiyciﬂorae, thalamiflorae, bicarpellatae, inferae
(4) Heteromerae, bicarpellatae, inferae, calyciflorae

40T DHardto Qogrgddom & (Aol esfey (S0t %38 0308
(1) 28T, 52023, Bs* BT, Seood'S :

(2) 88T, 82T, sOVYT, S DT

(B) 5°O2Y'T, FoWPT, BsBHTB, aSDT

4) °86°0T, BSTYYE, aSDT, 50T

34. Study the following lists :
List-1 List-1I

(A) Golgi apparatus () Circular DNA molecule
(B) Mitochondrion (II) Synthesis of carbohydrates
(C) Chromatophores : (IIT) Modification of proteins
(D) Cytoskeleton . (IV) Pigments

(V) Proteinaceous structures
& (800 ool ©go%d0 Bo%od

rdac-1 aroer-11
(A) m® HoES0 ' (D Sz s*8 DNA w0
" (B) D&°s0(B0HS D) 58y @Bo BoFhw
(C) (B*Sr& 3B en : () @S5 Srdrosdo
(D) o oPBondin (V) $¢ (Sargen

(V) [@ESasns Doy een

The correct match is
20 DO0HS FqoPH

(A) By (C) (D)
(L=l = a0 ()
2 A @O adAv)y ()
G v a av amy
@4 A v avy @O

Rough Work
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35. Identify the correct pair of statements
() The alternate name of thymine is 3- methyl uracil.

(I) Arachidonic acid molecule contains less number of carbons than palmitic acid.
(II1) Cellulose contains complex helices.

(IV) Aquaporin is a polypeptide.

DOTHS argwpge =S o800

4)) éoﬁ:&:S&: 88D 5- &766 SnorRS ;

) ©oHEIE v vmwP) PWSE vHho ol S EHTrodh SON Gotwod
(1) eogs®S Bofa BByorod L0 ﬁoéaao&

(IV) ©5°gd*0S 28 >0% 36

(1) (1, 1In (2) (1, 1) (3) (1, Iv) @ @ 1Vv)

36. Study the following lists

List-I List-1I
(A) Anaphase-I (I) Splitting of the centromere
(B) Anaphase-II (II) Recombinase
(C) Pachytene (IIT) Sister chromatids associated at their centromere
(D) Diakinesis (IV) Chromosomes aligned on the equatorial plate

(V) Nucleolus disappears
& 808 dorodh eFgando Sovod

o1 dar-1l
(A) Sod8%-1 ) o|&*Wodb JPaudo Woddo
(B) SeoH&4-1 (II) 65°0DIS
(C) >SS (1) oS’ Dwohbeo $& JFEY S*dr8sen 8D Gotron

(D) $05rBIDD (IV) (S Brsihoes $8gH HLIE HE wHd dotron
(V) Bo&s°0ddn wodgrddpdod
The correct match is
ad HBTHS =F'qoY
A ® © @O
(mam - @ @y o)
) D20 () - AN)
3 a dan ) @)
4 O dJdn av) a

Rough Work
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37. How many chromosomes are present in each of the following with respect to maize plant

respectively ?

(a) leaf epidermal cell (b) antipodal cell
(c) endosperm cell ' (d) generative cell
(e) egg cell (f) megaspore

(g) Microspore mother cell

Bo¥y E°d) Do HowoHow, 58085, &8 HHBIVYD F*S® NI L?BJ‘&*X)»CD

& OoePoN ? :

(@ DS ErgSEy Smd® (b (988 Eniw

(©) woHEBNE SwSH d) eeys5E Endw

&) %9 De Eodn | H Jreo g 5&!}&3

(g gy 94 D Sr8)¥ Ewo _

(1) 10, 20, 10, 10, 10, 20, 30 (@@ 20, 10, 30, 10, 10, 10, 20
@) 20, 10, 10, 10, 20, 30, 10 @) 30, 10, 20, 10, 20, 10, 10

38. Which of the characters are found in cells producing primary tissues ?
(I) Rich in protoplasm, conspicuous nucleus. |
(II) Thick cell wall, few plasmodesmatal connections.
(II1) Thin cell wall, many plasmodesmatal connections.
(IV) Lignin in cell wall, inconspicuous nucleus.

(D EDE Enwrorod $838 IH goros® 2 o‘g{wm QDI 00?
(D @dvordo w8 g0, DY QDD Bo|d¥o |

() H08J0S EngdSo, S50 §eaLcSa’JSaaoc_5'eoqumeJo

(1) $008Q Engdso, éeoLcSéSeaoc;S podaren ®¥o
(IV) A S8 Erdd EmEddo, bR DI So|B¥o.

) am @ @1V) G LUy @) WL

Rough Work
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39.

Identify the correct pair of statements from the following

(I) Primary phloem is commercially important in flax.

(I) The food materials in water conducting tissue are stored in thin walled cells.

() The water movement in vessels is bidirectional. :

(IV) Mature cells where hydrostatic pressure increases during sugar transport show the
presence of peripheral cytoplasm and absence of nucleus.

& (808 T8S' HOTNS Frgpge wdDH #200508

(D) E)S® (gNE F*aE Lweroo Frfughdomr &DTWrHo

() 58D bv8Hor Jd» Emereod®, EnHarger DoOIM™ &) Leroo 58S
dorgrode Jog Bron

(1) 88 Sodo ocdhrered® 8387 KIS0

(IV) 0683 Soros® ) B8 I8 oo 2SS v pd modEd Hy8
283808:08°, BS® H8HB EedHgo wod, ToB%0 Godd.

The correct pair is

20 VOIS =

40.

(1) (I, 1) (2). (L 1D (3) (I, IV) @) (I, IV)
Study the following lists
List-1 List-11
(A) Cultural services (I) Nutrient cycle
(B) Provisioning services (II) Afforestation
(C) Supporting services (IIT) Flood protection by mangroves
(D) Regulating services (IV) Petrocrops

(V) Recreation
& (B0b Dol eggohdo Bkod

Da-1 dze-11
(A) H0%) )8 dowod Ddow 0 2z odereo Hoddrren
(B) d&%H%He &rd DHe (1) by S3%o :
(C) egrd Yrde¥ Hden () roirbe creor H880 Hod SEn E0RoSE0
(D) dcso@Serdy DdH (AV) & o o
(V) 02D

The correct match is
28 HBTHS F&oR)

@a ® © O
(h av) dn @an @
2 vy avy (@ (10
3)-Gh ). (V)
@4 vy am @O av

Rough Work
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41.

[\

ZOOLOGY _

Choose the correct statements with reference to reproduction in Paramecium

(A) The micronucleus divides by mitosis and the macronucleus by amitosis.

(B) The micronucleus is polyploid and the macronucleus is diploid.

(C) After karyokinesié the parent cell divides into two daughter cells, anterior proter and
posterior opisthe.

(D) It undergoes transverse binary fission during favourable conditions.

DI B0Ss L‘ééogéagé DOoWoYoNS HBwond TEPFOIY %28 0WoHw

(A) Kmég‘s‘o@ﬁﬁém VoS Q30> $o0d5» dro Bo|B8&o IBERY oo
QRS Bododo

B) 3rga30850 winopaetsr s00n grodoEso Sganacts:
GO &S .

(C) s°0/rEINS S&oares $DEwo J¥ed Todbo Sod (F*&S  ({rocgod
a0 $008) H50050 2R (D0m0d o $008) @b Do BHoo I ydosron

(D) & 20 eddre DOR S YD ko od B3oe DDNEY 2SHYEBodo

(I) (A), (B) and (D) (2) (B), (C) and (D)
() (A), (C) and (D) (4) (A), (B) and (C)
42. In ADA gene therapy, identify the vector used to introduce the functional ADA ¢DNA into
lymphocytes
(1) pBR 322 (2) Retrovirus (3) alpha-lactalbumin (4) @-1 antitrypsin

ADA 233 D88ys® D ST SI) GHT/rA0D (Bosrd, & ADA ®Bog; ¢DNA &
Do ddo ¢*I8 dF¥derdy
(1) pBR322  (2) B&*BES (3) SO )-Tge DS (4) a-l SroSEDYS

43.

In which syndrome the somatic cells of males have Barr bodies in their nuclei ?

(1) Down’s (2) Turner’s (3) Edward’s (4) Kline felter’s

& (808 Q JoIB°HHS® HondHo BirLoro Bosseny o8 BHods £0A
&0 &0,

) &8) (2) &©8)6y 3) dag8y 4) 3988y

Rough Work
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44. Match the following
List-1
(A) Ostracodermi
(B) Coelocanth
(C) Cyclostomes

(D) Ostelchthycs

& |50b TR 22S$H%Sd®.

B¢

(A) ©%98°@0)

(B) dosrod

©) BF e

(D) &85

The correct match is

28 HOTHS F*doW)
A @B ©

(0. ) )

2 (@ dan @

3) ) dn

4 an @ aw

(D)
(In
av)

)

@

List-1I
(I) Lobe-finned fishes
(II) Exocoetus

(111) Extinct jawless fishes

(IV) Hagfish

HS¥-11
(D) ©0d¥ o Tdw
() D8°Ybd
(1) Dend SHde0 B Tded

V) 555 B

Rough Work

AM2015D
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45. Identify the correct combinations

List-I List-II List-I1I
(A) Genetic load The existence of deie\terious genes Sickle-cell anaemia.
within the populations
(B) Founder effect A small group of individuals from a Beaks of Darwin’s

population that start new colony in an finches.
_ isolated region _
(C) Centripetal selection It operates when homogenous environment ~ Weight of new-born

changes into heterogenous type babies. in London.

(D) Directional selection It works by removing the individuals Average value of
constantly from one end and shiﬁing length of Giraffe
fitness towards the other end of - neck.
phenotypic distribution

(1) (A) and (C) (2) (A) and (D)

(3) (B), (C) and (D) (4) (A), (C) and (D)

S (§08 IS O TS OB ¥SBnes Beoddwn

DEE-I SGE-II SSE-II

(A) =30g 8o 23S FEIESE Do adogRHon DES DS

G0 s B0 o Qoasr

(B) 0¥ 2Ho (dyrdo V) 2HO Jdardrdn Sare zarer @8¢s PoSo
$208 Bdon £¢ HTIFTI) D55 sy
(Frog0&® (B0 ow

(C) @dTo(8 $8wo VBB 0% TE B Ebdn DS aoaqro does®
805 TS Sndom S;OIDpddy  =J0DS SHerd
20 Seorodood PO 28D

(D) 67508 S0 B)¥ZErD DY e® o¥ wodgos®  zohoost

: P (Koo FonoSad FoEDEH) Dew
2057 wodgos® (Edoom $8mo Dend
: stPdodad &ron
(1) (A) $80520 (C) (2) (A) $005% (D)
() (B), (C) $:2808» (D) 4@ (A), (C) 326052 (D)
Rough Work
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46. In a normal ECG, the component that signifies the duration of one Cardiac Cycle is
(1) Q-T interval (2) P-R interval (3) S-T segment (4) R-R interval
& >ordn ECGS® D8 ‘998 Ho0k’ sorddd B98Tx0b
(1) Q-T wodSo (2) P-R woddo (3) S-T podo 4 R-R so&ddo

47. Identify the wrong statement with reference to the characteristics of embryonic stem cells
(1) They are pleuripotent :
(2) They are isolated from epiblast tissue of blastocyst
(3) They can not proliferate in a culture medium
(4) They can give rise to the three primary germ layers
Bodbre Eoreo ofmrodH HDowodod VIS TG0 20 0o
(D g2 I @mcggo £08 Godrom
(2) QDR g"@"hfg By Q%‘)g“@ oo S08 B8 '135.360
(3) ad Do SrEghood® dFad Vol
4) =9 Soards (TE0E Dadood A8 S S Heorosmon

48. Identify the wrong statement with reference to the functions of lymphatic system
(1) Transports digested fats to the blood vascular system
(2) Lymph returns the absorbed nutrients to the blood
(3) It transports lymphocytes from lymph glands to the blood
(4) Tt has no role in destroying the invading microorganisms
FRED 5’)5&’)‘{3 D&owd HowoSoNDd DO ITgPFN0 %20 0525
() 23 5RY DEgrOD 88 (908w SgHHEH =G T 0508
2) PhHdn TRoDS TFhasos 86A SE0s'd8 Jond
3) FH6b Hogo $08 FTALH oo §Eo'AE FTrw T oD
4) S*08 Tl Wrf 12 $E (805" ool el OA = Tele 1N

49. Identify the set of secondary lymphoid organs from the following
(1) Bone marrow and lymph nodes (2) Spleen and Bone marrow
(3) Bone marrow and Thymus gland (4) Spleen and'lyrnph nodes
8o 0¢° Bgdo% Dorond eddTo 2ED %28 0o .
(D) % g 0% TLES Ewdw () Lirdn S0 o Doy
(3) v Hog HoOGI BHS (Koo 4 HEdn $0c0 TALD FmoYeo

Rough Work
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50. Choose the wrong statement with reference to smooth muscles
(1) Myofibrils show alternate dark and light bands
(2) They are spindle shaped uninucleate cells .
(3) Their contractions are under the control of autonomous nervous system
4) They exhibit prolonged contractions
5050 Lodoo®H HowodoDS HOSD TIPLIY BRI :
(D) ¥y Sodd SodhHew JIstodBomr arpod $30050 5708 dod (HE0 0w
(2) ®2 ¥0B ©5°¥os® %oB ¥ Tob¥ Kwren
(3) D8 BoE'Ssn B30T TEIgSH 850 Bobi0b
4 ©d &gsto Bofwods WrHeron

51. Match the following with reference to endocrine disorders

~ List-I List-II -
(A) Addison’s disease (I) Hypothyroidism in adult
(B) Cushing’s disease (II) Hypersecretion of somatotropin in adult
(C) Cretinism. (III) Hyposecretion of glucocorticoids
(D) Myxedema (IV) Hypothyroidism during pregnancy
(E) Acromegaly (V) Over production of glucocorticoids
5035 6% %00 OIVI0H JowohoD & 1808 TN 2SDIBoH0

SEE-1 S¢E-11

(A) ©33S) 5o ) [Frdos® I Foroandadd
(B) $R0AY 2o& ) FrPos® Pirs® $*DS w0588
©) (38d=o0 ) §r8’sgstong wd® 378
(D) 8 &&r : (IV) #5830 adyd 095" Q20T P BorowdaSo |
(E) o8 omd (V) §r&sdsondo 08838

The correct match is

a0 JODd #qoH

(1) A-1II, B-V, C-1V, D-L, E-II
(2) A-V, B-1V, C-1II, D-II, E-I
(3) A-II, B-III, C-1V, D-I, E-V
(4) A-II, B-1V, C-V, D-1, E-ll

Rough Work

AM2015D 23 S



§2. Which one of the following is the correct s

lumbricoides ?

/D

(1) Monogenetic, dimorphic, pseudocoelomate and coelozoic parasite
(2) Monogenetic, dimorphic, coelomate and histozoic parasite

(3) Digenetic, dimorphic, pseudocoelomate and histozoic parasite

(4) Digenetic, dimorphic, coelonate and histozoic parasite

B08 TRS* 8I 00 00057 0NEIL 0208095 HDOTHS T BLORYNIV

(1) ds°8Fow, HYETHE, Wergids HIS, s Hoed)Ed

tatement with reference to Ascaris

(2) Js*8Fow, BYITrDE, D488 HEeE %00k Emere Do 2D

(3) BywdPow, BIETHE, WErgIbs LY, mwro DO DRI

4) &S@Eéf;:‘ooa. BgerdE, V488 HEE H00050 Emero DS ED

53. Choose the correct combinations

List-1
Class
(A) Turbellaria

(B) Trematoda

(C) Cestoda
(D) Phasmidia

List-11

Character

Mostly free living flat worms with mucus
forming rhabdites in body wall _
Commonly called flukes which bear two
suckers :
Ecto and endoparasites Body unsegmented
Amphids performing chemo receptor
function '

& (808 HOwONS }’oéoasfa‘o:)o %20 0o d»

H8E-1
Qo
(A) &©S)BOAST

(B) [BH& @
(C) e

(D) o805
(1) (B) and (C)
(3) (A), (C) and (D)

LI

om0

DgEyEHeo, BirSdgos® Fary)
0T oryond ©F D000 o
HBD derdmomr RSy word.

538 Bodo $rhsTor0tron

2D wring 20050 ©08S Dovs) EHod,
Boros® podyddsn S&

woDEew EF00E (TISTOT HABIrow

(2) (A) and (B)
(4) (A), (B) and (D)

List-III
Example
Convoluta

Bilharzia

Echinococcus
Trichuris

LS

G i
52\’)395"5&:“

ﬂg_*go“m

Rough Work
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54.

/D

Identify the correct passage of spermatozoa in male human reproductive system
(A) Vas deferens (B) Epididymis = (C) Urethra (D) Vasa efferentia
(E) Ejaculatory duct (F) Seminiferous tubules

SIS YD (BSHEND HgEH% BowododS HEEwO HOTBS (HASrH Sraedy
%98 0 Sosboo-

(A) HEsTE . (B) IDEBXD  (C) HHES® (D) HEa9Eeo
(B) dp08 o¢sn (F) H e8¢ 08

(1) B> D-5>F5>C—>S>A-SE

2) B E-S>C—>S>F->3A5D
B3 F>D->B->A->E-SC
4) F5B>A->5>DSE-C

5S.

Match the following with reference to geological time-scale

- List-I List-II
(A) Origin of trilobites (I) Silurian
(B) Origin of ostracoderms (II) Carboniferous
(C) Origin of fishes (Ill) Cambrian
(D) Origin of amphibians - . (IV) Ordovician
(E) Origin of cotylosaurs (V) Devonian
FThosrodrS (Dseddn & (B0 I esHBHodw

HEE-I HEE-TI
(A) B9°B wdorydo D) RerdoHs
(B) ©298°850 wdoeyso D) s°8°)d%8%
(C) BJHo edomydHo (II) SoDa%HS
(D) & Sore sdoydo (IV) ©8°220%5
(E) s&8S5*>bo sdomydHo (V) &8°00%S

The correct match is

20 DOTHS &0

(1) A-II, B-V, C-I, D-1V, E-II
(2) A-1I, B-V, C-1, D-IV, E-III
(3) A-II, B-1V, C-II, D-V, E-I
(4) A-1, B-1V, C-I, D-V, E-II

Rough Work

AM 2015 D . 25 S
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56. The cells lining the base of the intestinal glands that secrete lysozyme are

(1) Brunner’s glands
(3) Neck cells

(2) Parietal cells
(4) Paneth cells

wo|d (oo uordod® &od '63525550260 RRIEE Eeren OD?

(1) @35 |KHodoww
(3) AS Eerew

(2) SdgSeren
(4) HA8 Eeron

57. The unit formed by a longitudinal row of kinetosomes together with the corresponding

kinetodesmata is

(1) Myoneme (2) Motorium (3) Dynein (4) Kinety

a€ wohd HEBS® &3) 3 S Doewn 78 eses“aavgepm 0% a¥ (Hdrmomr
D YBo808.. AV wor aS"z,oePdo

(1) $0Tr%0 ) rstoch  (3) BIS 4) 338
58. Match the following
List-1 List-11

(A) Obligatory anaerobe

(B) Facultative anaerobe

(C) Polyembryony

(D) Reservoir host

(E) Biological vector

(Bod &7 =& 5780 yd»
S8E-1

(A) @d¥o ¥ vardsn 2D

(B) %938 warcsn £

(C) OO0

(D) w¥csr8Lon

(E) 25580

The correct match is

28 HOTHS FdoD)

a ® © @O @
(MmO a O J avj
2y ) - @ ) (V)
@ av)y a @ dm )
@ av)y a @O @ )

() Fasciola hepatica

(IT) Antelope

(IIT) Ascaris lumbricoides
(IV) Female culex mosquito
(V) Entamoeba histolytica

SGE-1I

(D) FDTorer ras
() Qo85S

(IlI) &0 00 (DS 0NES
(IV) e85 T8y &%

(V) Qobaver Y BEs

Rough Work

AM 2015 D
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59. Statement (S) : Marine lampreys migrate to rivers for spawning.
Reason (R) : Marine lampreys return to sea water after spawning.
(1) Both (S) and (R) are correct but (R) is not the correct explanation to (S)
(2) Both (S) and (R) are correct and (R) is the correct explanatlon to (S)
(3) (8) is wrong but (R) is correct
(4) (S) is correct but (R) is wrong
TgRg (5) & DIwE oro(Bden ShoH g T8 (Dardo BIrow
SO0 (R) (S ro(ben i DYS SHTS 80N BInEy Behoron
(1) (S). 0005 (R) Bodo VBT 5 (S) H (R) VOIS ST 570
(2) (8) %80 (R) Todd BOTHHD %00k (S) & (R) HOTHH DS8eo
(3) (8) D836 5°% 570 (R) VOTHIS
@) (S) 2038, 5 (R) HOTPSE s

60. Which one of the following diseases is not treated by Inactivated Whole Agent Vaccines ?
(1) Hepatitis-A (2) Bubonic Plague (3) Cholera (4) Typhoid
8od ads* D g8 Dgéa §'6%H duy9dr Ho g (8IFg 78 S0
SDOIrA0NSE? :
(1) TroT8R-A 2) angaS‘.UE' Db (3) Soor (4) BIrond

61. Severe combined immunodeficiency in man is caused by
(1) Deletion of gene encoding for ATPase
(2) Point mutation in gené encoding for Adenosine deaminase
(3) Point mutation in gene encoding for ATPase
(4) Deletion of gene encoding for Adenosine deaminase
SPSHIST (S D0 T80 J8°gE *Hho B §wdaéoo&?
(1) ATPIES %0880 udogdy dosgho
(2) ABSFDS BIILES HoTd0T 2SSt Dods &égﬁa’)dé
(3) ATPIES: %0880 238H)S* Dok L1058
4) JBSFDVS BIWIES %oTd0I 2dogd) Hoergho

Rough Work
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62.

D\

Choose the correct statements with reference to Mutation Theory
(A) Mutations occur from time to time in naturally breeding populations

(B) Mutations are continuous and accumulated over generations

(C) Mutations are fulfledged and there are no intermediate forms

(D) Mutations are not subjected to natural selection _

(1) (B) and (C) (2) (A) and (B) (3) (C)and (D) (4) (A)and (O)

CEREEIR ?ocg"oe"é'\)g HDowoHoWS }55@05 TPV D 598 0 w5

(A) dorzmomr (Duddo 20D 2erd’d 2Hos® sordifomor &EN0IEITw
DoYIIron

(B) a81058Te0 ©DDYB0 $0cn ad SEEoem HoDSHHE o

(C) a80587 e HORrY oD D0 d» SrggE d¥o0d

(D) 8058w (2¥)B58eeR8 057

(1) (B) $:805 (C) (2) (A) $080» (B) (3) (C) $20050 (D) (4) (A) $2005» (C)

' 63. Which of the following disorders is not caused by Pleiotropic alleles ?
(1) Sickle-cell anaemia : (2) Cystic fibrosis
(3) Phenyl ketonuria (4) Erythroblastosis foetalis
& (808 TS D g8 TG oAy oo D09 ool o
(1) FEH0 - Enndgod : 2) DRE HEBDO
(3) $IS 88 Jrgdir 4) 08 PNS Herdd
64. In birth control methods, which one of the following is an Intra Uterine Device ?

(1) LNG-20 (2) Saheli (3) Vaginal ring  (4) DMPA

6 (Bos5 aBgpds =dS dMoEn DIt D6 AoyIcross FEND
w087 :

(1) LNG - 20 (2) 9w d (3) T Seocko (4) DMPA

Rough Work
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65. Statement (S) : In brain stem, the pons is called as pneumotaxic centre with an ability

to moderate the functions of the “respiratory rhythm centre”.
Reason (R) : Neural signals from this centre can reduce the duration of expiration,

thereby alter the réspiratory rate.
Correct answer is

- (1) Both (S) and (R) are correct but (R) is not the correct explanation to (S)

(2) Both (S) and (R) are correct and (R) is the correct explanation to (S)

(3) (S) is wrong but (R) is correct

(4) (8) is correct but (R) is wrong

agwg (S) P Ddd sTodBNS'Y 3Ty 37 Brer8yE ToEBvoerd. ab
A% dast TIoodhad G0 DI00BKHS08.

80 (R) : & TodHhad Hboderen soygd 050D Q0D FgHTends
SrdyfoD).

a0 DOTHS HIFGeS B

(1) (S) %008 (R) Tods HOTLHD 5D (S) ® (R) HOTHS DSe 6 _

(2) (S) 5805 (R) Bods HOTHHD HddS» (S) & (R) HOTNS D¥8w

(3) (S) 50TWHB 5%, 3 (R) HOTHHD

(4) (S) BOTHHH, 5 (R) SOTHIS 526

66.

What is the correct sequence of Man, taxonomically starting from superfamily to sub-
family ?

(1) Hominoidea, Hominidae, Homininae (2) Homininae, Hominoidea, Hominidae
(3) Hoiﬁinidae, Homininae, Hominoidea (4) Hominoidea, Homininae, Hominidae
SrIPHE S08800s° whHtwono H08 EHHEwordE Ko 58D Sl Y
%28 0wodw

(1) 5*srondasr, 5028, 5500
(2) ST, P osrondair, HUWIT
(3) F¥wAW, TPWIF, FElsrondoie
4) F¥orondoir, TPNIT, FFENT

Rough Work
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67. Match the following with reference to eye of insect
List-1 List-I1
(A) Appoposition image (I) Secrete crystalline cone
(B) Dioptrical region (I) Refractive region of an ommatldmm
(C) Retinulae - (I1I) Region having cornea and crystalline cone
(D) Vitrellae ' (IV) Houseflies
(E) Cornea (V) Photoreceptor cells
geaéog) $088 H020H0DS & (300 A wd LrdoNw
SgE-1 : S88-11
(A) RS (D8Dowo @ fogéSé $0HHH (D0
(B) sro&Eob¥dm (rodo D) Serodd HELFDS (Froddw
(C) 3 Bdbo S (I HEHOOSD O ‘o‘;)tﬁé $0%%) So (@rodiw
(D) 8T (IV) &sien
(E) HEdboo (V) s°08 (&g Seren
The correct match is
ad HOTHS F'doY
(1) A-V, B-1v, C-11, D-1, E-lI
(2) A-1V, B-III, C-V, D-I, E-lII
(3) A-II, B-11, C-IV, D-V, E-I
(4) A-1V, B-V, C-lII, D-II, E-I
68. The contractile regulatory proteins that mask and unmask active sites in the sarcomere are
(1) Troponin and Tropomyosin (2) 'Troponin' and Myosin
(3) Actin and Myosin (4) Troponin-I and Troponin-C
365, 2:05056%0 D doho@n (@E BEsg FTod eTHd 0005 T TS0
B oswes® Josron _
(1) (S*FAS Hod oS L&S“@‘ébﬁia"?oS C(2) (SIS HOB® S0V
(3) D88 $20cBR HITTBS 4) |S*DS-1 H0050 (EFVS-C
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-

Statement (S) : Cockroach is “paurometabolous” with reference to its development

Reason (R) : In the development of cockroach, there is no nymphal stage.
Correct answer is :

(1) Both (S) and (R) are correct but (R) is not the correct explanation to (S)
(2) Both (S) and (R) are correct and (R) is the correct explanation to (S)
(3) (S) is wrong but (R) is correct

(4) (S) is correct but (R) is wrong

argwg (S) : °Qof 3’)3&33050"31 ‘oderstod’ wodrd.

3o (R) : aS“’ﬁos' e—sé)é')ﬁe.?‘ cosdrco TESD D8 YES0.

20 DOTDI ‘oéa"qﬁééw :

() (S) $960% (R) Bodo 203 572 (S) ¥ (R) coﬁaaé QDHBes 570

(2) (S) H9605» (R) Bodks .06@0:53 S28050 (S) “ (R) S000S dd8e
(3) (8) 20THHH 570, 572 (R) 200038

(4) (S) 500058, 57 (R) $0THIH 570

70.

Alleles for a gene I are 14, IB and I°. If I* and IP are dominant over I°, then I* = 1B > [°
is indicative of :
(1) Co-dominance (2) Recessive

(3) Wiener hypothesis (4) Dominance

I oF adgh I 1P %0000 I° 0F ooy ey aotrow. 14 $005w 1P
©35d I° o7y avderw wond M =1P>1° TIY rd%0s

() ST FSSD (2) wodgsdw
(3) 2856 Dgross» - 4) D FSBD
71. Choose the wrong match with reference to joints
(1) Gomphoses — Intercarpal joint
(2) Syndesmoses — Membrane between Tibia and Fibula
(3) Symphysis — Joints between vertebrae of mammals
(4) Synchondrosis — Epiphyseal plate
& (808 TS §¥ % BowoGodS VOSD TAD Boosw
(1) FodiTeor — wody Hoed wodsce &ew
(2) 2obF T — wodd H0d» oo g Ko S Bn
3) bogrdo — oo ERdso S5 g 08 e
4) DI E PR — VPR Do¥dw
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72.

/>

Abingdon tortoises in Galapagos Islands became extinct after goats with great browsing
efficiency were introduced. It is an example for . '

(1) Competitive release (2) Co-existence

(3) Interference competition . (4) Competitive exclusion

moriR 8333'005‘ Do Do L‘o’aﬁ-’é“b%éo 03 JDohds wi’i#oQ woddoTron.
28 &8 asororde -

(1) PEESg ddhodo (2) dEe LHID0
3) 538880 ¢ 4) VPSS DIFTFonoR)

73.

Choose the correct statements with reference to “Demospongiae”

(A) They are exclusively marine forms.

(B) They are colonial forms.

(C) Skeleton consists of siliceous spicules and spongin fibres.

(D) They are solitary and simple forms.

‘BBrIoRAT EH D000 HOTDS TgpgOd BLOYDY

(A) ad Hrom JdIE 2Heo

(B) 8D H“&TAFF EPHwo

© e?g‘éoadéwé‘ %05 €obsres $o005n rYoad e wodrow
(D) 30 HEYPod IsTod BHPW

(1) (B) and (D) 2) B)and (C) (3) (A)and D) (@) (A)and (C)

74.

Statement (S) : Marine fishes have aglomerular kidneys.

Reason (R) : Aglomerular kidneys increase the loss of water through urine.

Correct choice is '

(1) Both (S) and (R) are correct but (R) is not the correct explanation to (S)

(2) Both (S) and (R) are correct and (R) is the correct explanation to (S)

(3) (S) is wrong but (R) is correct '

(4) (S) is correct but (R) is wrong

argog (S) : Ddo8 BHoosod 6§§"£a‘@s‘ r‘ia::’:ad%)*é Hor (S DOB 00 ETTON.

5o (R) ;. $ETH P S N8 Sar$Doares dur(@o o°go DHgoBwT
DG 3Ry AT ow.

20 HBTD BIrEeIIN %

(1) (S) $0a» (R) Bodkd HOTHID 57 ()% (R) H0TDS A8 580

(2) (S) %8050 (R) Bod [ RSRSINY 50050 (9)% (R) H0THS A58

(3) (S) $0THHS 57, 5 (R) 0TI :

4) (S) %8T0%8, 57 (R) HBTHHS 57
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- 75. Vitamins required for maturation of R.B.C. are :
(1) Vitamin By — Folic Acid " (2) Vitamin B,, — Ascorbic Acid
(3) Vitamin B, — Pantothenic Acid (4) Vitamin B,, — Folic Acid
JE 8§ Ewro (R.B.C) ‘é@‘&)gsééa OS5V ES0M oD I
() &S B, — §OF wdo0 2) 62 B, — ¥ 8 wdoo
3) JLMDS B, — Jo&*BIE 850 (4 JOMNS B, — &9F w0
76. In which one of the following animals, parasitic castration is observed ?
(1) Carcinus maenas (2) African antelope
(3) Anopheles . (4) Culex
S (500 zohHoo®! BIosos DOI)ES 5 HIRSI AHd T Sw
(1) 57638 Ja>d 2) &5 Q0BS*H
3) O (4) Erg8Ey
77. With reference to cockroach, match the following
List-I List-IT
(A) Ocellar spot (I) Genae
(B) Epicranial plates - (I) Mandibles
(C) Cheek sclerites (IIT) Fenestra
(D) Second maxillae (IV) Vertex
(E) Adductor and abductor muscles (V) Labium
Q08N JowodoRS & od I =& &%) d.
B8E-1 HeE-11
(A) IS8 Dok O x>
(B) wdsdre doster (ID) SSoHen
(C) S58%) Bew : () Hondo
(D) Go&® 28 20D (IV) 3g%a
(E) 0580 %0005 0S8 Lodoren (V) o880
The correct match is
28 DOTHS 8o
(1) A-II, B-V, C-I, D-1V, E-II
(2) A-II, B-1V, C-III, D-V, E-I
(3) A-II, B-V, C-I, D-1V, E-III
(4) A-II, B-1V, C-1, D-V, E-II
Rough Work
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78. Identify the one which is not a disorder of circulatory system
(1) Coronary artery disease - . (2) Angina pectoris

3) Emphyserﬁa 4) Myocardial infarction
Bod JS* O 8E (08w HgHHE Tod ©d8?

(1) §6°58 §%oD o788 : (2) woda DEOD
3 303"‘2\:63‘ (4) HoWrs* QoS adFEES

79. Edaphic factors are related to
(1) Humidity . (2) Soil texture (3) Rainfall (4) Wind velbcity
Qa5 se¥sren B8 HowoHoNID
(1) Eo (@) %8 w€yd B sgFrso b Fos» Jifo

80. A fish, Nile perch introduced into lake victoria in East Africa led to the extinction of
Cichilid fishes in the lake. This is an example for
(1) Fragmentation (2) Over Exploitation
3) Coextinctions‘ (4) Invasion of Alien species
‘BS W8 ©F JdIo Srdo)y TR T 580 S*8 (9B Yo S0

@ HEHNSD DES SHhes woddoTron. 30 TIE sordrde

(1) Sn&Hoddo (@A 0BAR) 2) 3380 8JIJITJoeHo
(3) Do DD _ 4 Qﬂ'\)?éd o STEwren
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81. Two perfect black bodies A, and A, made out of same material have diameters 2 ¢cm and

16 cm respectively. x'max and '?L"max are the wavelengths corresponding to their maximum

radiation of energy at a common temperature. k‘max and k"max are related as

g 58 SHew AL A, o oF Do Sne® Tohwd, sgdswes H&Hd
2 o0, 16 0.2 £0A Hvyon. © o STASS® &5 Hdo M $0005®

Niax & T8 2008 30053 H0Q a8 I8 Qo S8of Borgos BwoPeron.
©D Peko A'max 208 adxn }k"maxo 53455 Yoo S»
(l) 16klmax =57\'"max (2) wlﬁax =K"max

(3) 8 7L'max 43 k"max 4) l'max =8 JL"ma.x

82. A Carnot engine working between 200 K and 500 K has done work equal to 800 Joules.
Amount of heat energy supplied to the engine from the source is

200 K $0a5 500 K © %85 93FD 5°07)$ moaS 800 &°¢) 52 Fnos.
23550 008 owHH WoSEDS H I8 Bwdsw

2000 800 1600 4000

(1) _'32_-] 2) TJ 3) TJ 4) TJ

83. The rms velocity of a gas at T °C is double the value at 27°C. The temperature T of the gas

in °C is (assume that the pressure remains constant)

T°C 54 28 srasnd ms Sos0, 27°C 8¢ RVV) VNIH BPoR Hod. ISP
ePHS T, A %oé.?ﬁ&od‘ (D&B0 Qo &owodd Do WoS)

(1) 820 (2) 1000 (3) 195 (4) 927
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84. Two trains A and B are approaching a platform from opposite directions. The siren in the
station is making a sound at a frequency 4 kHz. The passengers in the trains A and B hear
it as sound with frequencies 4.5 kHz and 5 kHz respectively. Then the velocities of the
trains A and B are, (velocity of sound in air = 340 m/s) _

A $:0050 B ©3 TBodd B¥) Hg8TY B0 u¥ FE FEod BABBI)ow.

RaSSt HI) IS 4 kHz FH1RHgo8’ fpo TIod. Teoy A Ho0a» Bs®
DI) (PosrdHon @ FP) $8Hm 4.5 kHz $5805% 5 kHz &r3:dHdgo de
fgreomr DoB A, B BYy Fros (mOS® $3 Vo = 340 m/s)

(1) 75 m/s, 55 m/s ) 85 m/s, 8.5 m/s

(3) 42.5 m/s, 62.5 -m/s (4) 42.5 m/s, 85 m/s

85. According to Rayleigh Scattering law :
(1) Small-sized dust particles scatter preferentially smaller wavelengths of light.
(2) The large size dust particles scatter only light of short wavelengths.
(3) The light coming from sodium lamps show Rayleigh scattering very efficiently by large
sized dust particles. :
(4) The light of only longer wavelengths is scattered more in earth’s atmosphere.

org®-H0E v drFod g .

() D) 505resn Ko Grd vmpe Smrd fomr soy $Sof Borgod)
52080 H0F DI ow ;

2) ™»

505700 EOAS Sr® wmHos vy SSonBFgo ad) 5708 S (S
s Lie '

DI ow
3) g 505700 E0AD 70 vmdeo F&aso Hdo o Beodd 5708 o°gd
HOE Deodnds v SES8° (5860w

4) ¥ Tedsnos’ 6g SSondne 5708 S S HOZ HBaKBo

86. A Telescope using an eye piece of focal length 3 cm has a magnification 10 in normal
adjustment. If the Telescope is now used to view an object placed at a distance of 180 cm
from the objective, the new length of the Telescope is (assume the final image is at infinity)

3 208 Do Tryrgoddsn So of LLEdN &J) BEr8E0 0 ToEy ©SFId0
Ferdn Dwrins® 10. $%y Sofdo Sod 180 200.D0. BrEINS® SNDH
SrEErA8 SrE80I0 GDTrAOWHOH, © ErEE80I0 ToEy §E PEH (VDO
(58DowBdn ©308 SrEENS” @D EIE BdN) ‘

(1) 39 cm (2) 32 cm (3) 33 cm (4) 36 cm
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A monochromatic light beam of wavelength 5896 A is used in double slit expériment to get

interference pattern on a screen, 9™ bright fringe is seen at a particular position on the
screen. At the same point on the screen, if 11'h bright fringe is to be seen, the wavelength
of the light that is needed is (nearly)

w8 68 $50i3 ggo 5896 A Ko 5708 Homo mod HOY BTrHos® $3888w
R 0798 N8 Podw®H >Ewd08. ?03_35 NS ¥ QLR FId0 ¢
9 3 dogBiocty B 30838 By95 Do T Fesw 5§ 11 5 GogdBeas
DY El3wmrood, sseBnS so0s Bogy EohB g g0, (odrdorm)

(1) 7014 A (2) 4824 A (3) 6780 A (4) 3525 A

88.

Electric field on the axis of a small electric dipole at a distance r is E, and at a distance
of 2 r on its perpendicular bisector, the electric field is E,. Then the ratio E,: E, is

28 D) ASgE BAS wgoD 1 Srfodt DSgS § (S0 E, H8050 od wow
SH0gpodS T 2r Srdos’ Qg8 F (So E, wond E,:E, 3438

(1) 1:16 2 1:8. (3) 1:2 @4 1:4

89.

Thin plates, each of area A, of four identical capacitors are arranged such that adjacent
plates are at a distance d apart with air as the medium. The plates are connected to a source
of V Volts as shown in the figure. The charge on plate 2 is

287 8o STogIN Ao Treoid DIZOITS S BrDos Hewsd Dofod
© J5) dofo Hgg d Srddw 0B BB WEID. & Does V Soo Ao
GE)8 2ILI05LH DLINS® I DEZ0omr BoBoBwESD. Ho¥ 2 » do
UFIS0 Jewd

phaalgl e el
e, A 2¢e, A e, A €, A
0 S 0 0
% —_— 3 V 4) ——
@ <L @ = G @ L
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90. In Gallium arsenide material, Ohm’s law does not hold good because

(1) resistance is infinite

(2) negative resistance exists in the voltage-current variation
(3) current goes to infinite at very low voltages
(4) current remains constant for any value of voltage

mOo%0 BB';)E)(S L&Smséagoé“, éuSDD DO%aHoHw HB8 0D, QoBaES

(1) VS 5» edodo

(2) éféa - 3(5355 (DS S0 é\)‘doc)e'f' Soes AE S HH EONWBNI)
(3) wror wo) Ss'ga 5 JBogs (dardrdo ©3083nm Godod
4) @ T2 DouHFHI Dogs (P dw [om &0 %950

91. Match the following
A B
(a) Michael Faraday (¢) Quantum model of Hydrogen atom
(b) Niels Bohr () Laws of electromagnetic induction
(c) J.J. Thomson (g) Discovery of Neutron
(d) Chadwick _ (h) Discovery of Electron
& (800 T =dDES0d : | '
A B

(@) 8 ot () (@S DEHovew 5730080 Jdrar
(b) Sy =°6 () Dogecsodpod (D8 Johodren
(¢) 1J.mHR (g) SrgerS wR) 8
(d) a8 (h) QogIS 8Dy
The correct match is
ad HoTS FdoY

@ ® © @
(e @ e
AR R R
B @@ W
@ () (@@ (@€ O
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92.

/D

Dimensional formula for coefficient of restitution
L‘ée‘gég‘& o EHnSEH a @*dagcﬁ ;
(1) MOLOTO (2) MLT! (3) MT? o4 MITS

93.

A stone is dropped from the top of a tower of height 45 m. One second later another stone
is thrown down from the top of the same tower. Both stones reach the ground at the same
time. If g = 10 m/s?, magnitude of the initial velocity of the second stone is

¥ ocond 45 M. QE5) IPSoD H00d (8008 60T, wE DED Sove s
2078 rod ©TB FWIBND 3508 (8068 DVOTE. Bodk or oy S0 B0

J0srow. g =10 Do/%, wond Bodd cron &9 K B8 575
{1y 25 mls ) 125 ms G) 8 m/s 4) 16 m/s

94.

The position of a particle is given by T = 3ti — 4tzj + 5k . Then the magnitude of the velocity
of the particle at t = 2 sec is :

8 §@ 90 (800 DFom adgwdss F=3ti-4}j+sk. t=2%. 5& o In
V0SS

() 276 mis (2) 246 m/s (3) 255 m/s (4) 265 m/s

95.

Three bodies A, B and C are projected with the same initial speed with angles of projections
30°, 45° and 60° respectively. The body/bodies having maximum range :

A,B %0050 C 3 Sareddo SR SED 30° 45° Bo0050 60° e st HI S
FO 538 (BERo Tohwaddd. H0H Fghd LONS HVH/SHes:
() B @ A (3) Aand B 4 C

A 58050 B

96.

The vectors A,BandC are such that |A|=|B|,|C|=+v2|A|and A +B+C=0. The angles
between Aand B, BandC respectively are ‘

D80 AB $005» Co HDowoddw |A|=|B|,|C|=+2]|A| %8050 A+B+C=0.
A,Bo g, B,Co $9¢g Sasvmn $8dm

(1) 90°, 135° (2) 90°, 45° (3):45°%: 135 (4) 45° 90°
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97. A car is moving at a speed of 60 km/h traversing a circular road track of radius 60 m. The
minimum coefficient of friction to prevent the skidding of the car is (g =10 m/s?)

60 . TgTgdn o of HyEsd 8°¢> $rgo Hom a8 528 60 8.2:./60&
568 (PArB RS 0. 5280 P8 %Ho@ QardowbE edddHMn 53‘(3. e e £
(@ = 10 H/2% ' ' " |

1) 21/54 ) 15/44 (3) 21/44 4) 25/54

98. When a force F is applied to a mass m, its acceleration is 6 m/s%. If the same force is
applied to another mass m,, it gives an acceleration 3 m/s%. If the two masses are tied
together and if the same force is applied to the combination it gives an acceleration

2§ podn Fl m (85503 (dBrAoda ool $38eH50 6 5o/7°. o8 wordy)
m, ($3550°37 L‘é‘c‘ﬁrﬁ"‘g oD S¢S0 3 5)3/‘"‘@2. Bodo @5555 oo 0
85 SSad 08 o0 HOTrAIND (DTEAD podn 9803 S8 e

(1) 3 m/s? (2) 2 m/s? (3) 1.5 m/s? 4) 1 m/s?

99, A particle of mass m is moving in a circular path of constant radius such that the centripetal
acceleration is varying with time as a_ = k?r t where k is constant. The power given to the
particle by the force acting on it :

m ($5g0°8 o 2f Endn P& Frgrdio o Syersd Srdod® o oS08
Se8eadw ac=k2r t? o3 HAESwoSE 6‘@ ST 08 e Srdadd 0. v d k

R070¥d®. & Emod HITVD woo LdE owd)S I gI»
(1) 2mmk’r’t (2) mk*’t (3) zero (4) mmk*t

100. A bullet is fired from a gun with a velocity 30 m/s at an angle of 60° with the horizontal
direction. At the highest point of its path, the bullet explodes into two parts with masses
in the ratio 1 : 3. The lighter mass comes to rest immediately. Then the speed of the heavier
mass is : ;
¥ Sor8 008 ¥ wBES 30 N/ TASENE §8x= VIHrodd 8F%H 60°
Eodns® DOy E. o Hrgos® K0L I8 HE wBE, (BSgoden 1:3 PI)
Bodd grmeomr IFYeI50 BosdIB. B0Y (8Hg0°® TooI Jiyo AS $DHI8.
D Pds 8BS (SS5g0°3 S
(1) 20 m/s (2) 10 m/s (3) Sm/s (4) 30 m/s
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101. A loaded gun of mass M fires a bullet of mass m with a velocity v at an angle of elevation
8. The gun is initially at rest on a horizontal frictionless surface. After firing, the center of
mass of the gun-bullet system

mv cos 0

(M +m)

(1) moves with velocity

M+mJ
mvﬁnﬁ)
M+m

M —-m)

=
(4) moves with a velocity _E\/IW in the horizontal direction

(2) ‘moves with a velocity v(

(3) moves with velocity (

M ($530°2 SO0 20888 DoBasnd) af S8 m (5308 Ko a8 wBES v
SH508° 0 6518 SFosnd® HOYTEH. HE FOr ¥ E8x BIrSS Hode
Srd Sodn NE a%)0. DS S5 Sr8-wTE $35% (ESgord (Sosw

mv cos 0 : : :
€)) ™M+m) SHB0E ¥Sr008508
m
(2) V(Mﬂn] JHES50S® ESrendod
, n 0 :
(3 (n;:j_u; J SHB0E® €Br00808
v(M - m)

4) K08 88z HIrosE BYS® E&re00808

M+m

102. A solid sphere and a thin spherical shell of same radius rotate about their diameters with
same angular momentum but with different angular velocities. If M, and M, are the masses of solid

sphere and hollow sphere and if their angular velocities are in the ratio 1 : 2, then —ﬁl—] is

2
25 TGO DAL 28 Dod A ¥S» wf Mo Fdn o6 Fgddve Do 28

Sl (855 S, 298) o Briswos® Wwsn Fokesays)2. M, M, o
Hod A edm, Hoo Addne (BSgorhooon ¢ ol Fifswe V828 1:2 vond

M,

RSN [M_z] &)‘u’agg

5 1 ; iy
(i 2 @ 3 3) @
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103. A heavy brass sphere is hung from a weightless inelastic cord and acts as a simple pendulum
with its period of oscillation T. The sphere is immersed in non-viscus liquid of density
1/10 of the density of brass. Then it will act as a simple pendulum of period
S §E ©REFDE D o8 26035 agd FEdnd Fordbdad. 9o
T foarddd sodnd) opnd ofdnm (DIGNI8. & o) 948 GH)
(8508* Sn0DTE. (BHo JoB, add JoBSS® 1/10S Sods HIB. @D pd
v S o8 SoTdd stosnd) STofsom (DB5EXN08.

10 9)? 10

104. A light planet is revolving round a massive star with a period of revolution T. If the
gravitational force of attraction varies as 12 then T? is proportional to (r is the distance
between the planet and star) :

28 O35 (HTrdn el (BHgoc? Ho S ($5» Hobr T (FHoerdED so0s’
HO|FIt0d. hergédn woo 2 e 505808 wdypd T? & edStsrsordomnr
GoBO (S, JF BS0 HFg &rdo 1)

(1) r5!2 | (2) r'?fz (3) 1.!!2 (4) r3:’2

105. The temperature of a steel rod placed between rigid supports and of length L, area of cross-
section A, Young's Modulus Y and coefficient of linear expansion o, is raised by T. The
amount of work done when heated is
&S L, s’aoc;SSTa‘Qcﬁ Brogdn A, 050h HmEdn Y S0 B 5°g8°S o ¥
a &5y 8 &y ééi) Sy PSS wgroro Hodgd wow, o eSS T
DodTE. B3 VSwbIod =08A5 DI Jwd s

YAQT2L YA oTL ¥YATa'T YAoT?L

QY = G ) s @

106. The ratio of the pressure (P) on a swimmer 10 m below the water surface of a lake
to that of the pressure on the surface of water (P,) (Atmospheric pressure = I x 1_0s Pa,
p=1000 kg m> g =10 m/s?) is
2 8 Fodd® 8 S8 10 . PSSt HI) 28 HETID DELINSH
HE Sodwd 05) DEsINSH fo D08 (Teddn bESIH =1 X 10° Pa, p
= 1000 kg m™, g = 10 m/s?)

(H 1 (2) a2 (3) Zero 4) 3
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107. A sphere at 600 K is losing heat due to radiation. At this temperature its rate of cooling is
R. The rate of cooling of this sphere at 400 K is (temperature of surroundings is 200 K)
600K 5¢ &%) A¢Sn D8mo ago° aho S )%s)0. & eI HS 38 ©b
ST Téw R. &1 A*¢S» 400 K DG 0P @0 ST T (uS8n T HS

200 K &3538) : :
1 ._8_R ER iR
= Q@ 5 L IR ) =

108. A message signal of frequency W, is superposed on carrier wave of frequency w,_ to get an
amplitude modulated wave (AM). Then, one of the angular frequencies of the AM wave is
(1) equal to the amplitude index of the carrier wave
(2) equal to the angular frequency of carrier wave
(3) equal to the modulation of the carrier wave

(4) equal to the amplitude of the carrier wave

EoDd HOS &’)J“éogé‘é.s (AM) ddom) oo, a¥ T (HIYY DoTSS»
B ;ISgd0 W Lo, TEE SFodD FIidedn w, & vorgsbod.
EoDYS VOB IrdogBLs dSonH W) ¥ ok FO1R B g0

() &8 S5ofy SrdgBas MHndsns® HErso

2) TS 80Ky Sdodh ORI gHNs® HErSo

(3) TS SS08Y SrdgTRSS® vsrdo

4 T5 SE0KD) F0DS PSS HIrS0

109. A circuit diagram of CE transistor amplifier is given in the figure, then
CE (&S558 3’3%550 By Seddo dHoodst B530A58. wond

CZ
| -
R, 1
V0
VCC |
l
.o
(1) Ve vV, =~V 1 LR, @ Ve — Vo - IR, = LR,
(3) IR, = IRy + AR, @Y Vo= Vot LR

VBB = VBE e IBRB for Vi =0

Rough Work
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110. pn junction diodes are arranged as shown in the figures (A and B). Identify the bias applied
to the diodes. :

¥ @

>
W L

(1) Both (A) and (B) show forward bias

(2) Both (A) and (B) show reverse bias

3) (A).shows forwarci bias, (B) shows reverse bias

(4) (A) shows reverse bias, (B) shows forward bias

Herg® A 55005 B & Sr2d40 pn 008 $TrEor 958 283D $BrEodH
©0508 pdrod Hfosod

(1) A$:805 B o0 Bod &40 'wja‘%a‘éjmloaa

(2) A %8050 B e Bodo 85 40 SrpdyIe)ow

(3) ARPE L0 wA;S Srwd0es, B 86°45)0 wAIrD ér%é.ﬂ_joa :

4) A 8854530 wddrS Irvdgoesd, B &I o adird Srwded

Rough Work
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111. (A) Ina B‘ decay in a nucleus, a daughter nucleus that has discrete energy states is produced.
The daughter nucleus reaches ground state from excited state by emitting y-ray.

(B) The binding energy of hydrogen nucleus is far less than the binding energy of helium

nucleus,
(1) (A) False, (B) True (2) (A) True, (B) False
(3) (A) True, (B) True (4) (A) False, (B) False

(A) =8 Sog%os® B~ gaso BoRID pdy DSE FEJrowen KOAS adg So(d¥o
838 TVohadodos. =dg Todfo y-88m =JodTohdo P30 &8
Frone 08 grrond Thsos.

(B) (828 Fo@¥o W) wogd 48 Lrdabo FoS¥o ©0dS 48 €oB wm

éﬁoa_é
(1) (A) éﬁaa:, (B) @=0 ' - (2) (A) =0, (B) é‘b;):
(3) (A) Q=o, (B) Vzo - “4) (A é‘ég), (B) é‘o’ay

112. The values of potential energy, kinetic energy and the total energy of the electron in the

fourth orbit of hydrogen atom are respectively
28 Fr@ad 208wt sod $5s6% JogiSh SBYNS 43, K8 48
D00 Bwdo 48 Dewden SEbHm

(1) -1.7 eV, -1.7 eV, -3.4 eV (2) +1.7 eV, +1.7 eV, -3.4 eV
(3) -1.7 eV, + 0.85 eV, —0.85 eV 4) -1.7eV,+1.7 eV, 0
Rough Work
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113. In Davisson-Germer experiment the decrease of the wavelength of the electron wave was
done by

(1) keeping the same potential difference between anode and filament
(2) decreasing the potential difference between anode and filament
(3) increasing the potential difference between anode and filament
(4) keeping more distance between ﬁhe anode and filament

BOa5-8E6 (pTrEos® Jogryd SCodBPso SMde TasnedH Bod

() o868 o0& Hgg S8 B FBIASS FSED S0Bod oogo
() 6SEE 0088 Hr8g PBINE FEE» Shohe oo

3) o588 PoDoEE $gg FBJ0HS PSS» Wode Grgo

() ©FEE HoT0ER Hr85g ErG0 I IM DROL TIO®

114. An electromagnetic wave is travelling in a medium of permeability p and permittivity € .
If ‘c’ is speed of the wave in free space, then, the refractive index of the medium is

p, 0305008, € HO8DE ¥OAS Srded® af JdgdahInod Sdodo
(505308, & SSofo ToE) SHo dsesrd0e® ‘¢’ wond, HSrdfo WYy
S8FSS Hom¥o

C : 1 B €
(1 Aot @ - ;""‘ (3) c\/% - @) cfe .

Hm Sm - m

115. A resistor 20 Q, inductive reactance 15 Q and capacitive reactance 15 € are connected in

series to an AC voltage source V =200\E sin ot . Then the maximum current in the circuit
is

20 Q 65 SE0, 15Q (HEESg (98 So¥e [hE¥o H00m 15Q g (H85°Foso
T>BuEo% V=20012sinot SFoy d508s FPe 235708 (FSS° $08005Dpdb,
¥ S00%0os® H0h DSgS pabro dend

M) 1042A () 10A (3) 20A 4) 2002 A

Rough Work
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116. The magnetic flux linked with a coil varies with time as ¢ = 3t* + 4t + 9 webers. The
induced emf at t = 2 sec is I
28 8K Hob%H ©5V0TRNoDS VI 08 WHTITIN TodNS’ b=32 +4t+9
Soboomr Srddeds. t=2sec S (00 Dogryof podn Jovd

(1) 1V Q) 6V (3) 16V @ 10V

117. A bar magnet of magnetic moment 20 J/T lies aligned with the direction of a uniform
magnetic field of 0.25T. The amount of work required to turn the magnet so as to align its
magnetic moment normal to the field direction is |
2.8 S0a° ©0I08Y ©oHI7 08 (Frdosdn 20 JIT. o 0.25T 2%68 ®oI ) 0d
38 09S° o8 T echdyoemd), T edhIpod (rdHEsw, 3 (08

00O S0TWOLY (BYSD pdd 20T S Jend

{1) 0.5 (2) 03] 43Y- 80 ) (4) 0.10J

118. A galvanometer of resistance 99 Q requires 5 mA current for full scale deflection. It can

be converted into an ammeter of range 0.5 A by connecting a shunt resistance of

99 Q I8 FI» Ko MmogTIrdEdN 3;;&_5;55.1: DS 0DBEI5» Boderas 5 mA
DEgE (HTErdn IV, oA 05 A edEHI0 (range) LA LI B8
D58 oS Hhod IS BH '

(1') 1Q , 2 2Q (3) 4Q ' @ 3Q

Rough Work
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119. Two concentric coils, of 10 turns each,f are placed in the same plane. Their radii are 20 cm

and 40 cm and carry 0.2 amp and 0.3 amp current respectively in opposite directions. The

magnetic induction (in Tesla) at their centre is

w57 & a8 10 Nodw Ko Boddd 535 So (8¢ é:’L Bohos aF 0o’ soTWe
ea‘:oc‘gdo. a3 avgé)‘géwm 569‘{5(1" 20 cm HoB6adn 40 cm, HoBdn TR argor
$82%ae 0.2 amp 8050 0.3 ampe) DBogE $58TE BF0® (DIWTYow. T
So8s» & wohdpod (DEm Jeod (BISY)

5 3
() 7 @

9 B2 G
3) 7 H, 4)

&
=
=

120. A non-conducting ring of radius R has charge Q distributed over it. If it rotates with an

angular velocity o, the equivalent current is

R ogddn o of omirdl $o0boD vdfo Q 2808336, ©8 o Sdas
HIENE FHowdw BRI ddo, &05 VS (DR Jood

Qu | Qo Qo
M) 3R 2 Qo | G R @ -
Rough Work
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CHEMISTRY
121. 0 = C—NHNHCH(CH,),

o

N
Drug (I)
oo ()

The above Drug (I) is an example of

(1) Antacid (2) Analgesic

(3) Antidepressant : (4) Antiseptic

D B0 D b aea

() wd I°FES» : | (2) Sy V6 FES»
(3) FrgHhoa G EESn 4) Dd» IS ES» -

122. The correct order of reactivity of the following iodides in 82 reaction is

Sx2 15556‘ (8od oTWrB&o ToE) HOTD ﬁmg%oé (E00

1) H3CCH2CH2CHZI (ii) (H,C),ClI (1ii) H:,‘CCH2(|3HCH3

3 I ;\‘

(D @) > Gi) > (i) (2) (@) > (i) > (i)

@3) Gi) > @) > i) - (4) (i) > (iii) > (i)
Rough Work

AM 2015 D 49 S



123. H,

OH

X
Identify X, Y and Z.

X, Y 50050 Zos $:80R)d».

X
(1) m-Cresol
m-§>rS
(2) Catechol
: T65S
(3) o0-Cresol
0-8§JS
(4) Resorcinol
00 'S

H
OH

¥

Y
Catechol
BHES
Resorcinol
00 'S
Resorcinol
0 F0S'S
Catechol
B0ES

Z
Quinol

8’5

Qumol
83 S
Catechol
To§S
o-Cresol
o-§FS

124. Identify Z in the following reaction
80 15656" Z35 8 odw

i) Ba(OH), _

2 H.CCOCH, —
(1) H,CCH,CO,H
(2) 2H,CCOH

3) -H3_CCOCHH2002H

3

(4) H,C—C=CHCOCH,

r

A

NH, “OH

125. H,CCH,CO,H T X T

What are X and Y ?

X %5600 Yeo 222

X X

(1) H,CCH,CONH, 3CCH CH

(2) H,CCH,CN H,CCH, CO}

(3) H;CCH,CONH, H3CCH CO,

(4) H,CCH,NH, H,CCH, CO

H
H

,CO,H
H,

Rough Work
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(H,CC0),0 Br i

23 }X 2 i Z
Pyridine 2545 m (Major)_—J>

126. NH

(dF°2)
Identify X, Y and Z.
X, Y Ho8csn Zeds ﬁago‘@a’)w.
X ‘ Y Z
(%OCHs GOCH,
N-COCH, N COCH, ' NHCOCH,
o e e
Br '
NHCOCH, NHCOCH NH,
o0 - L
Br
NHCOCH NH
NHCOCH, Br . 3 Br 2 2
3) @ _
Br Br
NHCOCH, NHCOCH NG

Br
(4)

o
O

o5

Br

Rough Work
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121, If the standard molar enthalpy of formation of CaO(s), CO,(g) and CaCO,(s) is 635, -393
and —1207 kJ mol™! respectively, the A H in kJ mol™! for the reaction

CaCO,(s) - CaO(s) + CO,(g) is
Ca0 (%), COx &™) %0005» CaCOy(p)o (ddre Irocd voFR® Dogrdyen
SE%m —635, -393 $o8a%n 1207 kJ mol™”! woxd,
CaCO,(2) — CaO(do) + COL (&) W8gEH A HekJ mol oSt
(1) 965 Oy 035 (3) +179 4) -179

128.1f the K of a sparingly soluble salt, A;B, in water is 1.08 x 107® mol® L7, its solubility
in mol L

¥ aoa@*érﬁoﬁe 000, A,B,8 de3est K , 1.08 x 1078 mol’ L eond, od
|@r$eda%d mol L™ leye5®

1 1073 A b 4 S0 (3) Hogwio? 4 107!

129. At a certain temperature, for the equilibrium Hy(g) + I,(g) = 2HI(g), if the equilibrium
concentrations in mol L~ are

[H,(g)] = 0.20; [L(g)] = 0.20; [HI(g)] = 2.0, its K. is

2¥ 0% SPWES 3¢ Hy(m) + L(@)=2HI(7) v5eR8°, 0500798 mddw
mol L'os® [Hy(a)] = 0.20; [L(=%)] = 0.20; [HI(&)] = 2.0 wond, &= K,

(1) 10 ) 0.01 (3) 100 | @ 1

130. Hydrogen resembles alkali metals in many aspects but differs in
(1) Metallic characters " (2) Oxide formation
(3) Sulphide formation (4) Halide formation
I EeS To 556 FESFHes FOLot 36600 s BIS :}a‘m:ol
BIrRN0H ?
() 655‘53‘:;50“%0;6.) &8 Godbo
2) 8331805 I8 WO
3) }fbggamﬁo DS Lo
4) $B&od Ddadfﬁéao

Rough Work
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131. Which lithium halide is soluble in pyridine ?

DORSS® €8y OB oo V86 207
(1) LiF @) Licl R R (4) LiBr

132. What is the nature of aqueous borax solution ?
(1) Acidic (2) Alkaline (3) Amphoteric (4) Neutral
708y moErdmo (HH)B dE?
(1) e , 2) g¢ : (3) Bgdgd CORMR. 139 -

133. What is the catalyst used in the following reaction ?
2CH,CI + Si —2st, (CH,), SiCl,

570 K
(1) Copper powder (2) Zinc powder
(3) Platinum powder (4) Nickel powder
(§ods ERT MR ﬁdgé‘ GDT/rAoS &333650 D8 ?
2CH,CI + Si if-%"—» (CH,), SiCl,
(1) 2586 & . (2) 20§ &
3) &F8do & (4) 935 4

134. What are the heights (km) from the sea level for Troposphere and Stratosphere ?

(1) 5 and 10—50 (2) 10 and 10—50
(3) 10—30 and 5—10 (4) 10—20 and 1—10
VIN(E Hoho %008 |E*FBEwmo HoB AW FIS S S ddod (km) dos?
(1) 5 $5805% 10—50 2) 10 $:805% 10—50
(3) 10—30 28050 5—10 (4). 10—20 Ho08a8» 1—10
Ro.ugh Work
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135. The ITUPAC name of the follbwing compound is
: H

(1) 4-hydroxy-5 ?methyl-héxan-Z-one

(2) 2-oxo0-5-methyl-hexan-4-ol

(3) 3-hydroxy-2-methyl-hexan-5-one

(4) 5-oxo-2-methyl-hexan-3-ol

(8ob 3By ¥So Vg IUPAC oo
H

(1) 4-Z°(@°8)-5-0F -2 B)S-2-43
(2) 2-65)-5-0BJS-8)5-4-4S
3) 3-2r(@°8)-2-0BS-E)S-5-48
4) 5-683-2-0FS-WrE)S-3-49

136. Which one of the following statements is not correct ?
(1) Alkanes undergo halogenation by -free radical mechanism.
(2) Ethane exhibits conformational isomerism.
(3) Sodium acetate on heating with soda lime give5 methane.
(4) Electrolysis of sodium acetate gives methane.
808 AHEOS® DO VOTHIE 5°E?
(1) 85 :\DS'D"’Q (8208 Sovg Igrdo &rgon é“é‘af&gdmo Bodosron
(2) $BS ©JErd ISyfgod (HE8IH06
(3) &0 09'65553 e BHE I8 T NBPIJ adyod

(4) 6050 ADBE DBgBITARS” 536‘5;60 20080

- Rough Work
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137. Which one of the following statements is correct ?

(1) Deactivating groups are ortho and para directing groups

(2) Reaction of benzene with 1-chloropropane and anhydrous AlCl, gives n-propylbenzene
(3) Electrophilic substitution of benzene takes place via c-complex

(4) Cyclohexadiene is an aromatic compound

(808 JBEnoS® 28 H8TNGS? :

(D) Sdo§a§ DJorGEen @6‘ 088 o (3":6 &)TJ'%S’ DT e

(2) BoEISDo 1-88° DS ;.’3360&:0 Do AICI o8 Igg¢ aaaa’)oaycﬁo n-(* DS
BodIB g0

(3) BoESS® Ju§9HOF Lﬁ.‘aag‘ém $dg 0-%08ho mgor @wEHS08
(4) DETENTBEHS 28 08S5r3E ‘o’afa‘a;'%f:éo'

138.

A compound is formed by'elements ‘X’ (cations) and ‘Y’ (anions). Ions of ‘Y’ form cubic
close packing (ccp) and ions of ‘X’ occupy all the octahedral voids. What is the molecular
formula of the compound ?

a8 Dorgsn, drostes X (SOErSe) $08050 Y (sddrSw)os 8808,
4 &ws’a, OAFSD VAT E DoBErGY (cep) AEEWIr, X BooE) e5rSen
SR -1 So|groR)o8 Y(ED00 B EHT) 0. K:cs"ga’m [SSERLY ©£05°8) o* 8 ?
(1) XY, (2) XY 3) XY, (4) X, Y

139.

The density of 20% (w/w) aqueous KI solution is 1.202 g mL~!. What is its approximate
molality ? (molar mass of KI = 166)

20% (WwW) KI o (oo 0@ 1.202gmL™. o°d szronod) Brerdd Jod?

- (KI @), [rer§ Lcﬁa’zgo‘% = 166)

(1) 0.5m (2) 1.5m (3) 0.15m 4 25m

140.
“fraction of water in this solution ?

An aqueous sucrose (molar mass = 342) solution is labelled as 20% w/w. What is the mole

w8 2r8'E (Brod (BOgor8 =342) o (Y 20% wW/w ° BrDooedy. &
(T°500S* A8 IS i Dood?
(1) 0.955 2) 0.987 (3) 0961 4) 0.945

Rough Work
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The conductivity of 0.01 mol L™ KCI solution is 1.41 x 107 § cm~!. What is its molar
conductivity (in S cm? mol™!) ?

0.01 mol L™! KCl (or$nd adrgdg0o 141 x 102 Scm™. ovd Irord adr¥dgo
(S em? mol™! ©&*) Dod&?

(1) 14.1 (2) 141 (3) 1410 (4) 141
142. Assertion (A) : The rate law of a reaction cannot be predicted from its balanced chemical
equation, but must be determined experimentally only.
Reason (R) : The order of a reaction is always an integer like 0, 1, 2 and 3.

The correct answer is
(1) (A) and (R) are correct, (R) is not the correct explanation of (A)

"(2) (A) and (R) are correct, (R) is the correct explanation of (A)

(3) (A) is not correct but (R) is correct

(4) (A) is correct but (R) is not correct

N3ED0 (A) : =¥ Bdg Béw K:ﬁ).:ﬁdea‘?\)l (PoIrmrd,) Sorr SV LY VB0 0WLTRM
T Soogo TBohwds Ihd JEIwo $90s Dg"aofjésﬁw.

s*de0o (R) p ¥ Sog(¥Srofdn JoRde 0, 1, 2, 3 IT oF Qrgro¥o.

80 DOTBNS DIrFeId0

(1) A K)oao‘.‘u: (R) o0 28003, (A) % (R) S0TDS 58 57

2) (A) X005 (R) oo oﬁ;c}’né&'), (A) & (R) D00 58

(3) (A) DBTDIB 5°¢%, 57 (R) SOTHIH

4 (A) JP0TDIB, 572 (R) DOTDIH s7°¢0

143.

The order of coagulating power of PO;:’* : SOﬁ‘, and CI” in the coagulation of a positive sol is
28 SIS Hods00’, PO, SO H0an CI” © Hpo8d gy (FH0
(1) P07 > 80%F > €I @) CI- >80%:> PO
(3). CI > PO} > 507 4) SO¥ > I > POY

144.

CaCO,MgCO, —2 X +Y +Z
What are X, Y and Z in the above reaction ?

-,

& 15656" X Y S8atn Z ey 2972
Y z

() Ca0  MgCO,

2) Cad0  MgO 206

(3) Ca Mg 2C0;

4) CaCO, MgO  CO,

Rough Work
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145. Match the following

List-I List-IT
Oxoacids of Phosphorous Oxidation State of Phosphorous
(A) Meta Phosphoric I +4
(B) Pyro Phosphorous (I +1
(C) Hypo Phosphoric (11D +2
(D) Hypo Phosphorous (Iv) +3
(V) +5
(Bod T8 =S HSasobw
rdec-1 ardee-11
FOYES eEyuDE | 085 wlyssn 98
(A) Doer 08 ; M +4
(B) &° CRSACE (I) +1
©C) ¢ @»&955 i +2
(D) =t @v}ﬁgﬁﬁ ' (IV) +3
(V) +5

The correct match is

RO VOIS DBrerdd»
A B (© @

) V) anp @

2 av) am @

G) @ avy am @

(-0 @V

146. In which one of the following reactions, a 16 group element will get precipitated ?
(800 2 B8ge’, 16 & HrD Swro¥o wSFDED50H)S2062

(1) Na;SO, + CL, +H0— - (2) Na§,0, + CL+HO —
(3) 2FeSO, + H80,+C, — (4) 80O, +2H,0 + Ul h
Rough Work
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147. For the first row transition metals, the E° values are

E° A% Cr Mn Fe Co Ni Cu

MZ*M) -1.18 =090 -1.18  -0.44 —028 025 +0.34
What is the reason for the non-regularity in the above values ?

(1) non-regular variation of ionisation enthalpies

(2) different number of e.l.ectmns present in M?" ions

(3) non-regular variation of ionic radii |

(4) the variation in densities of transition metals

IS8 (Hd 90588 e E° Devdes 808 dSom aaryom

E° v Cr Mn Fe Co Ni Cu
(M¥*/M) . -1.18 - -090 ~1.18 044 028 025 - +0.34

o

D deonden af (B0 TEFH@I8 s°Emo DB ?

(1) ©0588m Jogrdyos® $rdy af (¥ ‘écgéé* TETFH %0
(2) M* odsrSos® 228 Dopgs® JogTaSewodbo

3) vdrI¥ a*egi)‘g‘csé‘ d7°82) w¥ (¥ ‘50%5@65 DED S0
(4) $0583 Sarosto Jo|ESS® Srdoyes

148. Which one of the following complexes has more magnetic moment value ?
(808 Vo3 rod® BIS ¥ woHIrpod (FHoE Jood Fodkd?
(1) [Fe(CN) " () [CoNH)™* (3) [Fe(H0) " (4) [CoF )

149. Identify the addition polymers from the following
(i) Terylene : (i) Polypropene
(ii1) Polyacrylonitrile (iv) Nylon 6
(v) Polyvinyl chloride _
808 a8S® Do¥od FOSTos K oHdn
(i) BOOS (ii) O DS (iii) FOIB 95°IB9S (iv) 38 6 (V) rOIIS §° B&
(1) (@), (i), (v) @) (@), (i) (3) (@, () @) (i), (iv)

Rough Work
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150. Which one of the following has two a-D-Glucose units ?

(1) Maltose (2) Sucrose

(3) Cellulose (4) Lactose

$ob 8" 8 Tod a-D-frs's O3 & $0 EOABNDYB

(1) SrgtE (2) Ho8°F
omgd’sg B o §'S

151. What is the volume (in mL) of 0.5 M NaOH required to prepare one litre of 0.2 M NaOH ?

28 O®¥> 0.2 M NaOH %> S5 T swbdd sedoDS 0.5 M NaOH D3H0S5rwo
(mLos®) Jdog?

(1) 200 - (2) 500 G) 400 (4) 250

152. Three students namely A, B, C have done an experiment two times individually, for which
the correct value is 2.00 g. The results are given below

Experiment 1 Experiment 2
_ ® (2)
Student A 195 . 1.93
~ Student B 1.94 2.05
Student C 2.01 1.99

Whose results are accurate and precise ?

A B C e E.‘:.xadodo e'.)crsdam - Lo:a:f‘rr‘%l T~ PoTe Nond To&oI Yo DG, &
BBrrd8 wder Jend 200 g (DT/rd dendeo (8o& BIIDESD

RS rdo 1 P Trdo 2

: (g) (2)
dergd A 1.95 1.93

@
.‘Dm‘gg B 1.94 2.05
Qa‘sg C 2.01 1.99
DH0 (DT dovden HHomd, EDySomse aImyow.
(1) B ) A (3) AandB 4 C

A H8a50 B

Rough Work
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153. The gas that liquifies first, when cooled from 500 K to its critical temperature given in
parenthesis is : '
S00K 3008, $08988008" asgwdd vodd s (S T HB0YHD RSOES0dw
DS G Bss (SAFoWd

(1) NH, (405.5 K) (2) CO,(304.1 K)
(3) N, (126.0 K) @) 0, (154.3 K)

154. Which one of the following statements is nof correct ?
(1) For ideal gases, compressibility factor, Z = 1 at all temperatures and pressures.
(2) Viscosity of a liquid decreases with increasing temperature.
(3) The order of root mean square velocity (U, ), average velocity (U, ) and most probable
velocity (Ump) ofagasisU_ >U > Ump.
(4) The kinetic energy of a gas is inversely proportional to temperature (in K).

& (1808 JHEHOS” DB DOTPIE 5°E0?
(1) &) s’ (i, DdTro HE vEE) TBRHOH DoRES KowEo, Z=1 eHHod
@) (B%0 BYYS, GTESS® DEHSOE I $f2800
(3) 2f THNY, Ire Sgeo difen I§ Sore Ta‘ﬁ{m U, SRS Ko (U)
500050 H0Q Doyrdge Vio U,,) © EH0, U > U > U
4) =€ >5» KBu48, A Ko IS*E5rdorg0s® dood

155. Which one of the following is not correct ?
(1) Formal charges help in the selection of the lowest energy structure of molecule.
(2) Formal charges indicate real charge separation within the molecule.
(3) Formal charge of each atom of polyatomic ion can be calculated.
(4) Number of unshared electrons on the atom is also considered for calculation of formal
charge. - :
Bod TES® B DOTHIS &7

(1) 86 0o 08 8535 8o emo Ao e %28 05 &rA8 &DTBrADE & 0w
(2) 86 Qoo 00’ Jz T°8 IPudd SrDI 0w
(3) w50 HESTEE VRBFrSSTY (H8 HIBreHH FE S 8 BHoWSWo

@) 835 5780 B oWbH DESTEH) NS G H0SEEd dogTySod
o aHTRARE
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156. The dipole moment of BF, is zero because
(1) It is a covalent molecule
(2) It is a tetra atomic molecule
(3) It is having trigonal planar geometry
(4) The electronegativity difference between boron and fluorine is more
BF, 838yd (@rdoo dend D). JoBES e
(1) 38 JHTradcdh smd)
(2) 38 JreuHd DESrHd) wno)
3) =28 (88°m VSode g S EONBI0

4) $°o°S, PO B g 2w Defogardq ¥ S SESHR

157. The first ionization enthalpies of N, O, F follow the order
N,O,Fo 3088 «BoIEES Dogdyen oy (¥SoBwn
(1) O<N<F 2) N<OKX<F 3) F<N<O 4 F<O<N

158. The metal which can form an oxide having metal : oxygen ratio 2 : 3 is
S'o : wdyeSo P28 2 : 3 o ¢3 )83 D8 8B oo
(1) Sn (2) Na (3) Ba (4) Bi

159. The ground state energy in J, of hydrogen atom is —X. The minimum energy in J, requlred
to promote an electron from n = 1 ton=2in He" is

I @eS HSSrand) FrJron 48 Jod® —X. He' &* n=1 %508 n=2 & QUS9IS
05850 Dahadd wddgdory EJ% %8 Voot

1 ﬁ 2 o 3 2 . 4) 3X
(= @ T G )

160. Hydrogen spectrum gave a series of lines at Zl; 31]: d%c = (R = Rydberg constant
in cm™"). These lines belong to :
(1) Balmer series (2) Lyman series (3) Pfund series  (4) Paschen series
3 \, 5R 3R ZIR - -
828 ég&bé % T 528 0% Too ™ 5y Ado (FB ad)od
R=08 b QoroEsn cm® loe®) & Ader B8 %0208003I?
(1) %06 (763 (2) 8%8 (A
3) P (A @ Al (3
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